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BEWARE OF NEGATIVE MARKING

TOPIC : XI NCERT

SECTION-A

SECTION-A

A big drop of radius R is formed by 1000 small
droplets of water, the radius r of small drop is:

@) 1000

Which of the following curve does not represent
one dimensional motion of a particle:

(M (2)
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t A

The relative error in the determination of the
surface area of a sphere is 'a', then the relative
error in the determination of its volume is :
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A conveyor belt is moving at constant speed of
2m/s. A box is gently dropped on it. The coefficient
of friction between them is p = 0.5. The distance
that the box will move relative to belt before

coming to rest on it, taking g = 10 m/s?, is :
(1) 0.4 meter

(2) 1.2 meter

(3) 0.6 meter

(4) Zero

A point P on the trajectory of a projectile projected
at an angle 9 with horizontal subtends angle o
and p at the point of projection and point of landing
then:

(1) tan B +tan o =tan
(2) tana+tan B =tan 6
(3) tanB +tan B =tan a
(4) tanb+tana=2tanp

Two particles A and B execute simple harmonic

5T
motion of period T and a2 They start from mean

position. The phase difference between them when
the particle A completes one oscillation will be :

U 98 YeeT 2m/s & Fad 3 @ iy FR @1 ) v
¥ @ 4R ¥ 39 92 W) Fraan wian 21 919 5 el
W &h4 ¥ 8o o0 9 T U EE0 (ser e
p=0.594T g =10 m/s?®):

(1) 0.4 meter
(2) 1.2meter

(3) 0.6 meter

(4) I3
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(1) tanB8 +tana =tan B
(2) tana+tanp=tan 6
(3) tanb+tanp=tan

(4) tan 8 + tan o = 2 tan B
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The distance of centre of mass from point O of
two square plates system as shown, if mases of
plates are 2m and m is (their edges are a and 2a
respectively) :

§\\;_.

N |
_

2a

Assuming that the potential energy of spring is
zero when it is stretched by x,, then its potential

X
energy when it is compressed by ?" is:

3 3

(1) 5% (2) —kxg
3 1
@) —g*% ) gk

For the system shown in the figure the inclined
plane is fixed, all the pulleys are light and friction
is absent everywhere. The tension in the string
will be :

Q) %mg sin® 2) %mg sin®
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10.

1.

12.

A man goes to a height equal to the radius of earth
from its surface. The weight of the person at that
height relative to his weight on the surface of earth
is:

1
M 5

TN

1
@ 5

A particle of mass 'm' collides head on with
another stationary particle of mass M such that
the second particle starts moving with the speed
of first particle after collision. Which of the
following condition is valid if the coefficient of
restitution is 'e’:

(1) e=0

An ideal gas of mass m in a state A goes to another
state B via three different processes as shown in
figure. If Q,, Q, and Q, denote the heat absorbed
by the gas along the three paths, then :

8

(1 Q<Q,<Q,
2) Q,<Q,=Q,
3) Q,=Q,>Q,

@ Q,>Q,>Q,

10.
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(1) Q,<Q,<Q,
2) Q,<Q,=Q,
(3) Q,=Q,>Q,
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13.

14.

15.

In pressure-volume diagram given below, the
isochoric, isothermal, and isobaric parts
respectively, are :

S8

(1) BA, AD, DC

(2) DC, BA, CB
(3) AB, BC, CD
(4) CD, DA, AB

The P-V diagram of a system undergoing
thermodynamic transformation is shown in figure.
The work done on the system in going from
A - B — Cis 50 J and 20 cal heat is given to the
system. The change in internal energy between
AandCis:

P4

(1)
(2)
(3) 84J
@) 134J

34J
70J

If earth suddenly stops rotating about its own axis,
the increase in it’'s temperature will be :

R?w?

) s

Rw?
(2) s

. Rma?
3) 5Js

(4) None of these

13.

14.

15.
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(1) BA,AD, DC
(2) DC, BA, CB
(3) AB, BC, CD
(4) CD, DA, AB
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16.

17.

18.

19.

20.

A faulty thermometer has its lower fixed point
marked as —10°C and upper fixed point marked
as 110° and upper fixed point marked as 110°. If
the temperature of the body shown in this scale is
62°, the temperature shown on the Celsius scale
is:

(1) 72°C
@) 82°C
(3) 60°C
@) 42°C

Two identical stringed instruments have frequency
100 Hz. If tension in one of them is increased by
4% and they are sounded together then the
number of beats in one second is :

(1) 1
(2) 8
(3) 4
4) 2

A source producing sound of frequency 170 Hz is
approaching a stationary observer with a velocity
17 ms™. The apparent change in the wavelength
of sound heard by the observer is (speed of sound
in air = 340 ms™)

(1) 0.1m
) 0.2m
(3) 0.4m
4) 0.5m

Oxygen is 16 times heavier than hydrogen. Equal
volumes of hydrogen and oxygen are mixed. The
ratio of speed of sound in the mixture to that in
hydrogen is :

1 32
(1) Py (2) \Jﬁ
2
@) \17

The equation of displacement of two waves are
given as

y, = 105in[3nt+g} Y, = 5(sin3nt+J§cos3nt)

Then what is the ratio of their amplitudes :
(1) 1:2
(2 2:1
3) 1:1
(4) None of these

16.
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18.

19.

20.

O Sy aar) e =g g fasg —10°C e
oA fad g 110°2 1 AR 6l fvs s @ wha &
A9 62° 8, o Afcuga wha & a9 B:

(1) 72°C

2) 82°C

(3) 60°C

(4) 42°C
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21.

22,

23.

24,

Four identical rods of same material are joined
end to end to form a square. If the temperature
difference between the ends of a diagonal is
100°C, then the temperature difference between
the ends of other diagonal will be :

(1) 0°C

100, ,
(2) e C; where | is the length of each rod

100
kbl g
S —

4) 100°C

A bomb explodes in mid-air when it has a
horizontal velocity of 20 ms-' . It breaks into two
pieces A and B having masses in ratio 1 : 2. If A
goes vertically at speed 80 ms~ , the speed of B
will be :

(1) 40ms™!
(2) 50 ms™
(3) 60 ms™’
(4) 100 ms~

Oblique projectile motion is an example of :

(1) twodimensional motion
(2) motion under gravity
(3) both(1)and (2)

(4) None of these

Which of the following figures represents the
motion of a body moving in a straight line under

constant acceleration :

A
(1 (2)

=
1
\"

(3) 4)

S

21.

22,

23.

24,
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100, :
(2) o C; where | is the length of each rod
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25.

26.

27.

28.

A motor car is travelling at 30 m/sec on a circular
track of a road of radius 500 m. It is increasing its
speed at the rate of 2 m/sec?. The acceleration of

the caris :

(1) 2 m/sec?
(2)2.7 m/s?
(3) 3 m/sec?

(4) 3.7 m/s?

A body is being raised to a height h from the
surface of earth. What is the sign of work done by
applied force and graviational force respectively :

(1) positive, positive
(2) positive, negative
(3) negative, positive
(4) negative, negative.

The distance between two rails is 1.2 m. The center
of gravity of the train is at a height of 2 m from the
ground. The maximum safe speed of the train on

the circular path of radius 150 m is (g = 9.8 m/s?) :
(1) 21 ms™’
(2) 42ms™’
(3) 63 ms™’
(4) 84 ms™’
The radius of gyration of a sphere of radius R about

a certain axis is also R. The distance of this axis
from the center of the sphere is :

(1) R
2 JoaR
3) JosR
@ osR

25,

26.

27.

28.

T AT FR T JAER Az Rt Bwar 500 m 21
T 9l 2 m/sec?d XA 9¢ @ 21 A IR 3EH T
30 m/sec @ T HR HT FHol @ BN :

(1) 2 m/sec?
(2) 2.7 m/s?
{3) 3 m/sec?
{(4) 3.7 m/s?

) a%g &l 73 9% 9 h FHAE W o AT T2
T W AR A 9 T 6T 9 & HA I 7778 B

(1) UFITTE, LT
(2) eI, SO
(3) T, YT
(4) O, FUTAF.
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(2) 42ms™
(3) 63 ms™
(4) 84ms™
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29.

30.

31.

32.

If acceleration due to gravity on the earth surface
is g & above height h above the earth surface itis
g, (h<<R). Then its value at depth 2 h is :

) g,/4

If the external forces acting on a system have zero
resultant, the center of mass :

(1) may move but not accelerate

(2) may accelerate

(3) mustnot move

(4) none ofthese

The block A in figure weighs 100 N . The coefficient
of static friction between the block and table is

0.25. The weight of the block B is maximum for
the system to be in equilibrium. The value of T_ is

(String is massless and inextensible):

(1) 0.25N

(2) 25N

(3) 100N

(4) 100.25N

Equation of stationary wave is ¥ =10 sin %COS %

positions of antinodes is :

@) 0,10, 20 ...
@3) 7, 14, 21

(4) None of the above.

29,

30.

31.

32,

Ife gedl Fii e W I @ & A4 g Bl o I
I ¥ds ¥ FHR h HAIE T A @0 &I 94 g, 81,
At g2t & 998 ¥ 2 h TeqS A TEET @R FH A
F BT (h<<R):

(1) g,
2) 2g,
(3) 9,2
4) g,4

afe &8 e W) aRve 99 37 81 @ 9 T
T

(1) o 9= aehar & ftT wwor J8 s
(2) frema =ia & w2

(3) aw w@Rd BN

(4) SR F FE T

e A T IR 100 N 2 29 IR e & &= =y
i 0.25 21 3Rk et B &1 ¥R e 9t 9qee
& Roa A Fiftrenarr 2191 319 &1 999 T, 2 (3H
sl 7 AT 21):

(1) 0.25N
2) 25N
3) 100N

4) 100.25N

ATIHN TGT T FHHT yﬂOHn%COS%%m
% feufoar 2:
(1) 5, 15, 25

) 0, 10, 20

@) 7,14, 21

(4) g e



33. Awave of frequency 100 Hz travels along a string | 33. v& 100 Hz 3“3&-[ qreil I g;;ﬁ}' F AR T & o
towards the fixed end. When this wave travels I 6T quafsT BlE 9 amﬁ%aagaiﬁ% 10 cm
back, after reflectictn, anode is formed at a distance w = 2 g9 9 9 959 8 ﬂ:. ( R T
of 10 cm from the fixed end. The speed of the wave RS
(incident and reflected) is : ) :

(1) 5m/s (1) 5mfs
(2) 10m/s (2) 10m/s
(3) 20m/s (3) 20 m/s
(4) 40 m/s 4) 40 m/s

34. At a given temperature, velocity of sound in | 34. RY A 9y W AR = A F ATFHSH AR SRS
oxygen and in hydrogen has the ratio : ¥ T e
(1) 4:1 2 1:4 (1) 4:1 @) 1:4
@ 1:1 4 2:1 (3 1:1 ) 2:1

35. A material has Poisson's ratio 0.5. If a uniform | 35 o& gery REsr &l U 0.521 AR v
cylindercal rod suffers a longitudinal strain of YAER BT @ dEE ﬁ?ﬁf 2 x 1022 TUFH
2 x 10, the percentage increase in its volume is : Frgaq ¥ Fras afvee &% iﬁ; it
(1) 0% (1) 0%

() 2% 2) 2%
3) 4% (3) 4%
4) 8%. @) 8%.
SECTION-B SECTION-B

36. The ratio of the kinetic energy (K) and potential | 36 g S H. M. a9} FHT FT 1229 oo ¥ e

energy (U) possessed by a body in S.H. M. when it
1
1 A — st St (k) e Rufasr

is at a distance of (;) of its amplitude from the i (m}ﬂ;"aaf ( ) ™
mean position is : St (U) DI A T B |
(1) m2 (1) m?

1 1
) P 2) m
(3) m?+ 1 (3) m2+1
(4) m*-1. 4) m2-1.

37. During inelastic collision between two bodies, | 37. < fie % 9 B arel JY=T FHeE & <A FFliRaa
which one of the following quantities always ¥ A =l 4 Uiy 939 aRug 'R &
remains conserved :

o (1) et T S
(1) Total kinetic energy
(2) Total mechancial energy (2) %= =l
(3) Total linear momentum (3) el T W
(4) Speed of each body. @) I fiT =it 9.




38.

39.

40.

41.

42,

The dimension of 1/2 ¢ E? is

Where ¢, — permittivity of free space,
E — electric field intensity :

1) [ML-'T-]
2) [ML2T]
3) [ML2T-]

) [M-L2T].
Two masses m, = 2 kg and m, = 5 kg are moving
on a frictionless surface with velocities 10 m/s and
3 mfs respectively m, is ahead of m,. An ideal
spring of spring constant K =1120 N/m is attached

on the back side of m,. The maximum compression
in the spring is:

(
(
(
(4

v, =10 m/s v,=3m/s
m, —VTTVIT 1,
SL LSS S S
(1) 0.51m
(2) 0.06m
(3) 0.25m
4) 0.72m

When a disc rotates with uniform angular velocity
which of the following is not true :

(1) The sense of retration remains same
(2) The oreientation of the axis of rotation remains same
(3) The speed of rotation is non-zero and remains same

(4) The angular accleration is non-zero and remains
same.

A force F=ai+3j+6k is acting at a point

F=2i —6]—12k . The value of a for which angular
momentum about origin is conserved is :

(1) zero

(2) 1

(3)-

(4)2

A body rolls down an inclined plane. If its kinetic
energy of rotational motion is 40% of its kinetic

energy of translation motion, then the body is a :
(1) solid sphere

(2) spherical shell

(3) cylinder

(4)ring

38.

39.

40.

41.

42,

[1/2 ¢ E2] 9t famm @ e ¢, — Frafa <t fRggereieran
E = frp@ &= ot faar :

(1) ML'T2]
(2) ML?T]

(3) ML
4) [ML2T].

m, = 2kg T m, =5 kg dlel & FHAM 99 Yo 48
R A : 10 miSTAT 3 mis B WA A TR 21 m
m, ¥ 3/ 21 Ryw fgars K= 1120 N /m aTelt 123
RYT m , D S & h B &2 81 Ry A aftrrew

L EL 3'1111.

v, =10 m/s v,=3m/s
m, VT m,
gL S S S S

(1) 0.51m

(2) 0.06m

(3) 0.25m

4) 0.72m

¥4 ®IS e v 99H Siviig 30 3 o Fdl 2, @
Frfafaa 3 &9 a1 %y 9 181 8

1) 9o Fi feam w9 e 2

2) U 3187 1 fefaware e T 2

3) 9O FI A FA T G EA B

4) T ROT S T G &l B

Y 9l F-ai+3)+6k ¥ g 7=2i-6]-12k W
F W21 'a'S 599 P fog 7@ Rg @ wne
HIvitg AT wefRa 2

(1) zero

2)1
(3)-
(4)2
Y 95 AT 9999 W e @l & g g afasr
Holl TIFFAOT AT oll 3T 40% T °F I s8Rl :
1) 319 e

2) e i

(3)de=



43. Equation of progressive waveis :

44,

45,

y =asin’ A cos’ % sin(ot—kx£¢)

where symbols having their usual meanings then
which of the following is/are correct for given
wave equation :

(a) Amplitude =asin’%, cos’ 7/
{(b) Wavelength =2%, particle velocity =?
c) Unit of y = unit of amplitude,
y P
unit of wavelength = unit of x

(d) Frequency L)
27

(1) only dis correct
(2) only b is correct
(3) a, b, c, dare correct

(4) a, b, c, dare incorrect

A string fixed at its both ends vibrates in 5 loops
as shown in the figure.

S e

The total number of nodes and antinodes are

respectively :
(1) 5,6
2) 6,5
3 7,4
4) 4,7

A spherical ball is compressed by 0.01% when a
pressure of 100 atmosphere is applied onit. Its bulk
modulus of elasticity in dyne/cm? will be
approximately:
(1)10"”
(2)10"

6

(3)10

(4)10™

43. QUEN T T GHEOT 2

y=asin’ % cos’ % sin(ot—kx+¢)

R alewrs e =3 s T
Bl

(a) ammzasinz%cosz%,
() aﬁﬁ:ﬂ:%,w&wh:?

(c) y I W=k = IR &l ATAH

TERY & AHAS = x & AEE

(d) s ==
2m
(1) Fad dTET 2
(2) F9d baE &
(3) a,b,c,dge &

4) a,b,c, dTAT &

. i o S Y 599 ¥ F F 2

45. IR T M AT X 100 IRFIVSA T T 3 9 99

0.01% T TS BT 2| THHT AT T
{{“ll?’&ﬁ"ﬂ:



46.

47.

48.

49,

The approximate depth of an ocean is 2700m. The
compressibility of water is 45.4 x 10" Pa~' and
density of water is 10° kg/m*. What fractional
compression of water will be obtained at the
bottom of the ocean :

(1) 0.8 x 10
@) 1.0x 102
(3) 1.2x 102
@) 1.4x 1072

The breaking stress of a material is 10° pascal. If
the density of material is 3 x 10° kgim3. The
minimum length of the wire for which it breaks
under its own weight will be :

(1) 34m

2) 3.4x10'm
3) 3.4x10°m
@) 3.4x10°m

Four rods each of length 'I' have been hinged to
form a rhombus. Vertex 'C’ is being moved along
the x-axis with constant velocity 10 m/s as shown
in the figure. The rate at which vertex B is
approaching the z-axis at the moment the rhombus
is in the form of a squre is (let the plane of rhombus
is in x-z plane) :

B
X
A c
v=10 m/s

D
(1) 5m/s
(2) 10m/s
(3) 25m/s
4) 5\/5 m/s

If W be the work done, when a soap bubble of
volume V is formed from a given solution. Then
the work is required to be done to form a bubble
of volume 2V:

(1) 43w
2) 2w
@) 2W
4) w

46.

47.

48.

49,

Frdl IR F TETE W 2700m g &1 wedisan
45.4 x 10" Pa™' 9T Wil &1 99 10° kg/m*GFR &
T R 9 1 1o aadi== B

(1) 0.8x 102
2) 1.0x 107
3) 1.2x 107

4) 1.4 x10=

i qerd &1 Fe IR T 10°9RSd 21 3 gerf &y
¥ed 3% 10° kg/m’ B | AR ) g9 oIS o1 B,
R aR s+ € R 9 T 9

(1) 34m
2) 3.4x10"m
(3) 3.4x10°m

@) 3.4x10°m

IR YA TS 1 AN S A U IS S T 2
i A 'C T x-31F A AW 10 mis B A farg BT
z-31& & RT: 1 B (9 x-z ¥ B):

v=10m/s

(1) 5mi/s
(2) 10m/s

(3) 2.5m/s
4) 5J§m/s

V RIS T G JAsar a4 3 W EHE far s 21
a9 2V AFS 6 Gl S A B FRar SR

(1) 4w
(2) 213w
(3) 2w

@ W



50. The stress versus strain graphs for wires of two

materials A and B are as shown in the figure. If
Y, and Y are the Young 's modulii of the materials,
then:

Stress

60°

30° X
Strain

w]

50. PT-R¥ veral 9 €9 3 9 AT B & fore gfvew

Rl w e 3 Rearr wr 21 alk Y, 9 Y, s 9)
AT BF 9/l & 49 VI 8, 9 96l G S

Stress

60°

(=]
307 x
Strain

]



TOPIC : Full Syllabus (XI-MODEL)

Atomic Masses : H=1, He=4, C=12, N=14, 0=16, Na=23, Mg=24, P=31, $=32, CI=35.5,
K=39, Ca=40, Fe=56, Cu=63.5, Br=80, Ag=108, 1=127, Ba=137, Au=197

SECTION-A SECTION-A
51. The 3" ionization energy is maximum for : 51. e AE ol I BN
(1) Na (1) Na
@2 P @)
(3) Si (3) Si
@) Mg 4) Mg
52. Consider the order 0-<F-<Na*<Mg?* the incorrect | 52. 02 <F-<Na*<Mg?* & foid 19 91 F¥ 39 &
statementis :
(1) Zeff. T IRET FH
(1) increasing order of Zeff.
_ _ (2) L.E. T 3R &9
(2) increasing order of L.E.
(3) increasing order of size @ o i
(4) increasing order of electron affinity “) géla;] T YT =T HRIET
53. In case of spid hybridisation, if all the o-bonds are | 53. spd &l ¥ AR’ @ o-Fawr & &, A Fre
identical then how many lone pair's must be maﬁgwﬁﬁ H1ie:
present:
1
(1) Zero (1) 3
(2) One (2} ‘T
(3) Two @ @
(4) Three @) 9=
54. Van der Waals’ real gas, act as an ideal gas, at | 54. =T gt 9o A4 foha Jaer § s A9 oar aEr
which condition : H4M :
(1) High temperature, low pressure (1) =9 99, = <=
(2) Low temperature, high pressure (2) fo1 a9, S W@
(3) High temperature, high pressure (3) 3= 9™, I=d T
(4) Low temperature, low pressure (4) 1 T, e A
55. In areaction 5.0 moles of electrons are transfered | 55. U Filifhar & 5.0%3@3@7{ <l T Ush Ao

to one mole of nitric acid. The possible product
obtained due to reduction is :

(1) 1.0moleof N,
(2) 0.5moleof N,
(3) 1.0mole of N,O

(4) 0.5mole of N,O

R Fvt =l fRar ST 21 JTEE B heERy o
FET IS N0 :

(1) 1.09= N,
2) 0.5%=N,
(3) 1.04@N,0

@) 0.5WAN,0



56.

57.

58.

59.

60.

What volume of oxygen gas (O,) measured at 0°C
and 1 atm, is needed to burn completely 1 L of
propane gas (C,H ) measured under the same
conditions :

(1) 6L
@) 5L
3) 10L
@) 7L

The following quantum number are possible for
how many electron :

n=3, I=2, m=+2

Number of moles of KMnO, required to oxidize
one mole of ferrous oxalate completely in acidic
medium will be:

(1) 7.5mol
2) 0.2mol
(3) 0.6mol
(4) 0.4mol

He-atom is 2 times heavier than a hydrogen
molecule at 298 K. The kinetic energy of He is :

(1) fourtimes that of hydrogen molecules
(2) half that of hydrogen molecules

(3) two times that of hydrogen molecules
(4) same as that of hydrogen molecules

Which of the following will be least reactive
towards reaction with nucleophile :

CHO
CHO
(1) (2)
NH,
N
CHO
CHO
(3) (4)
H,

56.

57.

58.

59.

60.

0°CTIY 9 1 atm T R O, 19 & fFar I A
BRI St I IRRfoa W 1 L 919 &1 Sier <9 ¢

(1) 6L

gﬁﬁlﬁlﬁéﬁ e I o gl & e o9
n=3, I=2, m=+2

(1) 1

@) 2

@) 3

() =

1909 @ AFec @ g AT & quiedr
é‘aﬁ;ﬁa{daﬂ%%%‘zmmm‘%ﬁﬁaﬁm

7.5mol
0.2mol
0.6 mol
0.4 mol

(1
(2
(3
“

298 K9 He JIV], BIZEIVA AV & < A1 9@ 2 &t
He i WIfast F5aif 2 -

(1) SISO SIS & AR T
(2) BTESISH T[N & FMen
(3) BTESIOM SN ¥ T
(4) ETSZISH SIS F EHH

Freafaiaa 3 fRraal ile=E & wr frariear <
B

)
)
)
)

CHO
CHO
M @)
- NH,
CHO
CHO



61.

62.

63.

Which of the following is most reactive towards
addition of HBr :

(1) Propene
(2) 2-Methyl propene
(3) But-2-ene

(4) Benzene

CH,
CHS—A)—CH=CH2 ——r2 5 A (Major), Compound A

dilH,50,
H,

CH,
(1) CH~C—CH-CH,
H,OH

CH,
@) CHs—é—CH —CH,
OH CH,

CH,
(3) CH~C—CH,~CH,
H, H

CH
(4) CHS—éH—CHZ—CHO

Match Column | with Column Il and choose the
correct option :
Columnl Column |l

a. Musturd gas i. CH=CH+Cu/Cl/

NH,CI
b. Westron ii. CH,=CH+S,Cl,
c. Vinyl acetylene iii. CH=CH+AsCI,
d. Lewisite iv. CH=CH+CI,

(1) a-i, b-ii, c-iv, d-ii
@) a-iii, b-iv, c-i, d-ii
@) a-ii, b-iv, c-i, d-iii

(4) a-ii, b-i, c-iv, di

61.

62.

63.

FrafiRad g ¥ 9 HBr & 919 999 JsT ARSI
m%‘“:

(1) 9=

2) 23 T
(3) T2

(4)

CH,
CHa—é—CH=CHzﬁ—*A (T I9R), 9iRE A
H,
ahr g

CH,
(1) CH—C—CH-CH,
H, OH

CH,
@) CHa—é—CH —CH,
H CH,

CH,
(3) CHS—é—CHz—CHE
H, H

CH,
(4) CH3—(IJH—CH2—CHO

T | 99 e || FT e W

el | e Il
a. WS A9 i. CH=CH+Cu,Cl,/
NH,CI
b. I ii. CH=CH *SCl,
c. e il iii. CH=CH+AsCI,
d. afafde iv. CH=CH+Cl,

(1) a-i, b-ii, c-iv, d-iii
2) a-iii, b-iv, c-i, d-ii
(3) a-ii, b-iv, c-i, d-iii

@) a-ii, b, c-iv, d-iii



Vi

64.

65.

66.

67.

68.

The highest bond order present in :
(1) co*

@ O

@) O

@) N,
The solubility of AgClin 2 M NaCl is
[K,, AgCl=1.8 x107"]

(1) 1.8x10"M

(2) 9.0x10"M

(3) 6.5x102M

(4) 5.6x10"M

Heat of neutralization of a strong acid by a strong
base is equal to AH of :

(1) H*+OH-— H,0
(2) H,O +H* - H,0*

(3) 2H,+0,=H,0

(4) CH,COOH+NaOH = CH,COONa + H,0

Compared with alkaline earth metals, the alkali
metals exhibit :

A. larger ionic radii

B. greater second ionisation energy
C. high boiling point

D. lower first ionization energies

(1) A,BandD

(2) AandD

(3) Band D

(4) A,B,CandD

Given below are the elements and the type of
hydrides formed by them. Mark the incorrect match:

(1) Phosphorus — Molecular hydride
(2) Potassium — lonic hydride
(3) Vanadium — Interstitial hydride

(4) Nitrogen — Electron deficient covalent hydride

64.

65.

66.

67.

68.

=T 3 ForaaT sruhife 9 e B
(1) co

2 O

@) O

@) N,
2 M NaCI¥ AgCl & faegar sl :
[K,, AgCI = 1.8 x10-"9]

(1) 1.8x10°"M

2) 9.0x10°"M

(3) 6.5x10-"2M

4) 5.6x10"M

e ARTirar & e v9a &R 3 Ia9o 371 9 ow
FeriIEr F] il AH & SU«aT et :

(1) H*+OH-—H,0
(2) H,0+H* - H,0*

(3) 2H,+0,=H,0

(4) CH,COOH+NaOH = CH,COONa + H,0

&Y g, & @1 oI 9 g § Teiia & @ ¢
A. gt sEfe Bea

B. 3iftr fedi smae ol

C. FE FauAlT

D. & T A FHell

(1) A,B3R D

(2) ASIRD

(3) B3R D

4) A, B,C3RD

1 77 79 v I 2} R srEges) @ yaR Ry
e 21 ea Rrear it e wY

(1) FIEERE - SO BrEges
(2) MR - A ETEFES
(3) AR - HaUFTEN BTESES
(4) ARG - TR -~ eddiol BEgTEs



69.

70.

71.

72,

73.

The d-orbital involved in sp*d hybridisation is :

In a reversible isothermal process, the change in
internal energy is :

(1) zero

(2) positive

(3) negative

(4) none ofthese

T T

—OH and CH3—C|)H—C—OH are :
CH,

CH,~CH,~CH,—

(1) Position Isomers
(2) Chainisomers
(3) Metamers

(4) Functional isomers

Be,C

and B are respectively :

0 LA X __,B+H,, Compound A

Electric arc

(1) CH,and HCN
(2) CH,andNH,

(3) CH=CHandHCN
(4) CH=CHandNH,

IUPAC name of
CH2:CH—(I3H—CECH is :
CH,

the compound

(1) 3-methyl penta-1-yne-4-ene
(2) 3-methyl pent-4-yne-1-ene
(3) 3-methyl pent-1-en-4-yne
(4) 3-methyl penta-4-en-1-yne

69.

70.

71.

72,

73.

sp*d Teheor A IuRe <Y -3nfdeer 2

(1) do

2]

@) d

xy

@) d.

z

@) d

ZX

Sawaoilg wardig ofear ¥ s<Re He & 9Radq
Bhm:

(1) T
(2) =R
(3) TR

(4) T & Iz T8

I I :
i CH,~CH,~CH,~C—OH aﬂICHa—(lsH—C—OH B

CH,
(1) = qHEgE

(2) sy FHETEr

(3) ATl

(@) Torarcwer qaraadl

Be,C—° A _B+H,, gifilr A AR B

A B

(1) CH, 3k HCN

(2) CH,3RNH,

(3) CH=CH3RHCN
(4) CH=CHB3RNH,

pIILG CH,=CH-CH-C=CH 1 AL R AL AR 2R
CH,

(1) 33T YeT-1-315 45
(2) 3T YT -4-3AA-154
(3) 3 Ye-129-4-35
(4) 33 92T-4-57-1-31A



74.

75.

76.

77.

78.

79.

Clarke’s process is used for removmg temporary
hardness, by addition of ............. :

(1
(2
3
4

) Calculated amount of Ca(HCQ,),

) Calculated amount of NaHCO,

) Calculated amount of KAI(SO,),.12H,0
) Calculated amount of Ca(OH),

Select the anion which is the strongest conjugate
base:

(1
2) CIO;
3)
@) clo-

Clo,

—_—

Cio,

The incorrect statement among the following is :
(1
2
3
4

C,, is an allotropic form of carbon

—

O, is an allotropic form of oxygen

—

Diamond is purest form of carbon

)
)
)
) red phosphorus is more stable in air than white
phosphorus.

Methanol and acetone can be separated by :

(1
(2

) fractional distillation
) distillation
(3) steam distillation

)

(4) vacuum distillation

In a S, substitution reaction of the type

R-Br+ClI —2 ,R_CI+Br"

Which one of the follwoing has the highest relative
rate:

(1) (CH,),C-CH_Br

(2) CH,CH.Br

(3) CH,CH,CHBr

(4) (CH,),CH-CH_Br

The value of Van der Waals contant ‘a’ for N, and
NH, are 1.39 and 4.17 atm 12 mol2 respectively. If
these two gases have the same value of constant
‘b’ then under similar conditions :

(1) The pressure exerted by N, gas is more than that
of NH,

(2) The pressure exerted by nitrogen is less than that
of NH,

(3) Both exert equal pressure
(4) None of these

74.

75.

76.

77.

78.

79.

T fAftr 5T oI a0t 3RUTS FORAT A WFA &
fore s 2 :

(1) Ca(HCO,), 3 uRefera A=

(2) NaHCO,# IReRfera wm=

(3) KAI(SO,),.12H,0 i qRaferd AT

(4) Ca(OH), =t IReferd AT

Freafeiad =vmad 3 &l 999 999 €99 9R NN

(1)

) O, am:rmrsmq%

3)

(4) ST PICRIE he FERRE F e 91 § e
I BT #

AT SR T @ Y guH FAEL

(1) T AEaT

(2) 3T

(3) ¥ JrEaA

@) TatT smEeA

S, AvTfoRar &

R-Br+ClI—2* ,R_CI+Br"

= A e forardiierar 9@ iftres &R

(1) (CH,),C-CHBr

(2) CH,CH,Br

(3) CH,CH,CH,Br

(4) (CH,),CH-CHBr

=X a1 FEdieE ‘@’ @1 A A N, 9 NH, @ g
HIE: 1.3999 4.17 atm 12 mol22 | 4f2 3 <41 A4y
& ferg e b’ &1 419 @I o O, 99 JaeEn
(1) N, B8R ST T =6 NH, ¥ Sa1eT &8/

2) TEIeH BRT TN T 9| NH,& & 8

3) TN B GH < T

4) IR ¥ ¥ FI3 78



80.

81.

82.

83.

84.

85.

If combustion of 2 g of CH, liberates 2.5 kcal of
heat, the heat of combustion of CH,, is :

(1) —30 kcal
(2) —20 kcal
(3) 2.5 keal
(4) -5 keal

Which of the following electronic displacement
effect depends on attacking reagent :

(1) Inductive effect

(2) Mesomeric effect
(3) Electromeric effect
(4) Both2and 3

Which of the following is not an air pollutant :

What is the correct order of density of llA group :
(1) Be>Mg=>Ca>Sr>Ba
(2) Be<Mg<Ca<Sr<Ba
(3) Be>Mg>Ca<Sr<Ba
(4) Be>Ca>Mg<Sr<Ba

Diborane is produced on an industrial scale by
the reaction of BF, with :

(1) LiAH,
(2) NaH
(3) NaBH,
(4) LiOH

Among the following, the pair in which the two
species are not isostructural is :

(1) SiF,and SF,
(2) 10,-and XeO,
(3) BH,~and NH,*

(4) PF, and SF,

80.

81.

82,

83.

84.

85.

g 29 CH, & T&T ¥ IG~1 IS &l A 2.5 keal 8l
A CH, W T oo el -

(1) —30 keal
(2) —20 keal
(3) 2.5 keal

4) —5 keal

Ffafaa ¥ @ @ a1 seegie RenE aimwre
‘Rﬁ‘ﬁé:

(1) 90T 9

(2) FERRE goE

(3) TG T

@) 23R 33
Frefeiaa & =19 arg ygus =6 2 -

FafdtsaT AT sTafi sra T Fr 2 :
(1) Be>Mg>Ca>5r>Ba
(2) Be<Mg<Ca<5r<Ba
(3) Be>Mg>Ca<5r<Ba

4) Be>Ca>Mg<Sr<Ba

ateifie T W sl = @ fore BF, Y fomar
Frae 9 w34 € :

(1) LiAH,

(2) NaH

(3) NaBH,

(4) LiOH

FrfeRaa & foFa g (pair) 91 96 999 7181 €
(1) SiF, 3R SF,

(2) 10, 3R XeO,

(3) BH, 3fRNH,"

(4) PF. 3R SF,



SECTION-B

SECTION-B

86.

87.

88.

Select the correct statement :

a. The common oxidation states exhibited by
group 14 elements are +4 and +2.

b. Carbon and Silicon mostly show +4 oxidation
state.

c. Group 14 oxides in higher oxidation states of
elements are generally more acidic than those
in lower oxidation state.

(1) a,bandc

(2) aandb

(3) bandc

(4) aandc

Choose the correct statement :

a. In diamond each c-atom undergoes sp*®
hybridisation.

b. In graphite each layer is composed of planer
hexagonal rings with sp® hybridized c-atom

c. Fullerenes are made by heating of graphite
in an electric arc in presence of inert gases.

d. Max. percentage of carbon is present in
anthracite between diffrent form of coal.

(1) a,b,candd
(2) a,candd
(3) a,bandc
(4) a,bandd

The correct expression of Kp for the equilibrium
PCl, = PCL,+Cl,is :

M Ke=q7gz*P
@) KP—1f‘;2xP
(3) sz1f;2xp
@) Ko=—2 xP?

86. WSl Ty ®I gAY :

a. 9E 149 Tl g GAA: +4 T +2 ATFAHT
e yeiia &t o 21

b. wEA 9ur RifceA AR +4 Afrdiaor saen
gefifa & 21

c. GYE 14 ATFAISY AU Tl A I=F R
TR R 94 A TR J9er 4 SR
=g B 21

(1) a,b3Rec
(2) a3ib
(3) b3k c
@) a3 c

87. W& FHYUT &l g7 :

a. R ¥ FEHA HT IHWT sp* el B

b. AwrEe ¥ gA® 94 YeHlvig Seat 9 <+ Bl @
R ST AL T FHT sp T @

c. EAT I RTE A T Ak e A IaRud
¥ TEEe &l W e F9/T o« 8

d. AR THR & Flga ¥ 9 EEe ¥ FE4 @
gfraraar 99d warer il 2

(1) a, b, c3Rd
(2) a, c3Rd
(3) a, b3iic
@) a, b3 d

88. fad T WFaEEA PCI, = PCI+Cl, & faw K &1 9




89.

90.

91.

92.

What is the mole fraction of the solute ina 1.00 m
aqueous solution :

(1) 1.770
(2) 0.0354
®3) 0.0177
@) 0177

HO o A _ CiHsMghr

Mg,C,
are respectively :

>B, Compound A and B

(1) CH=CH&CH,
(2) CH=CH&CH,
(3) CH,-C=CH &CH,

4) CH,&CH,

C.H,
“ (A)
oS
O /’580:/"0
2 /1980
White ppt. "B

Compound A and B is respectively :
(1) CH,CHC=CH&CH,—CH,
(2) CH-C=C-CH,&CH-CH,

(3) CH,~CH;-C=CH& CH~-CH-G-CH,
(4) CH;-CH,-C=CH&CH,-CH,~CH,-CH

IUPAC name of compound is :

OH

X

(1) 2-ethyl cyclopentanol
(2) 2-ethenyl cyclopentanol
(3) 1-ethenyl cyclopentanol-2

(4) 2-hydroxy cyclopentyl ethene

89.

90.

91.

92,

1.00 e STeny faerg A faeld & e g o
(1) 1.770
(2) 0.0354
(3) 0.0177

@) 0177

Mg,C, HO | p _ GoHsMgBr \B,?ﬂﬁ'ﬁﬁ ASﬂTBE ;
CLE

(2) CH=CH&CH,
(3) CH,-C=CH &C_H,

(4) CH,&CH,

C.H,
. (A)
9
s > /7280/'20
P %SQ
White ppt. B

IR A R B 99T B8
(1) CH~CH~C=CH&CH_CH,
(2) CH~C=C—CH,&CHCH,

(3) CH,~CH,~C=CH & CH,—CH,—C—CH,
(4) CH,-CH;-C=CH&CH,~CH,-CH-C-H

e atfres 1 s g e, 1 - s

OH
N

(1) 2o RN

(2) 2T AEFACAT

(3) 1-vdAIEe et -2

(4) 2T AEEAN=E T



93.

94.

95.

96.

For the system of gases A, B, C and D at
equilibrium A + 2B = C + 3D, the partial pressure
find tobe A=0.2atm, B=0.3 atm, C = 0.4 atm and
D = 0.5 atm, what is the numerical value of the
equilibrium constantK :

(1) 18.75
2) 11.25
(3) 5.0
@) 2.7

A body of mass 10 mg is moving with a velocity of
10 m s™'. The wavelength of the de-Broglie wave
associated with it would be :

(1) 6.63x10"m
(2) 6.63x10®m
(3) 6.63x10*m
(4) 6.63x10*m

Which is correct order of their Ka value for the
given compounds :

i. CH,COOH ii. (F)CH,COOH
iii. (NC)CH,COOH iv. (O,N)JCH,COOH

(1) ii =iii > iv>i

2) i=ii=ii>iv

(@) iv>iii>ii>i

(@) iii »iv=>i>ii

Which of the following statements is/are correct
for alkali metal compounds :

a. Super oxides are paramagnetic in nature

b. The basic strength of hydroxide increases down
the group.

c. The conductivity of chlorides in their aqueous
solution decreases down the group.

d. The basic nature of carbonates in aqueous
solution is due to cationic hydrolysis

(1) a,bandconly
(2) a, bonly
(3) b,candd only

(4) candd only

93.

94,

95.

96.

A,B,Cd D9 1¥ig faeew & forg A+ 2B —=C + 3D,
AMIF S AFT 0.2 atm, B=0.3atm, C=0.4atm¥
D = 0.5 atm, K 9 Az =T 419 €

(1) 18.75
2) 1.25
(3) 5.0
@) 2.7

10 mg TR aTell a&g T 3 10 m s'2 af et
STl 9Oy BN

(1) 6.63x107m

(2) 6.63x10°m

(3) 6.63x10%m

(4) 6.63x10m

Fretfaiaa i & I K A &1 98 & 8 e
i. CH,COOH ii. (F)CH,COOH
iii. (NC)CH,COOH iv. (O,N)CH,COOH
(1) i > i > iv > i

@) i>ii > i > iv

@) iv > i > ii >

@) i > iv > i > i

P A 3 9 a1 e el urg AR @ R @
a. YR AFEES FTTIHE B 8

b. FW ¥ it I W T ¥ wIFaarEe F Rl
9gdl ol 8

c. T A A I R FEE T Acihdl 399 el
faeq ¥ gedt ot 2@

d. HECE H &0 IO TS SISO & HRI
BT ®

(1) a, bd c&ad
(2) a, bFad
(3) b, cTdFTa
(4) cTdFas



97.

98.

99.

100.

In the reaction,
4NH,(g) +50,(g) — 4NO(g) + 6H,0(l)

When 4 mole of ammonia and 4 mole of O, are
made to react to completion, then :

(1) 4.8 mole of H,O is produced

(2) 3.2 mole of NO will be produced
(3) Allthe NH, will be consumed
{4) Both 1and 2

Assuming the atomic weight of a metal M to be
56, find the molecular formula of its oxide
containing 70.0% of M.

(1) M,0,
(2) M0,
(3) MO
(4) None of these

Quantum number of six electrons are given below.
Arrange them in the order of increasing energies :

a. n=4,1=2m=-2,s=-1/2
b. n=3,1=2,m=1,s=+1/2
c. n=4,1=1, m=0,s=+1/2
d n=3,1=2,m=-2,5s=-1/2
e. n=3,1=1, m=-1,s= +1/2
M

(2) e»b=d>c>a

e<b=d<c<a

(3) e»b=d<c<a
4) e<b<d<c<a

The mass of CaO that shall be obtained by heating
20 kg of 80% pure lime stone is:

(1) 1.62 x103 gm
(2) 1.80 x10% gm
(3) 2.70 x10%gm
(4) 8.96%10% gm

97.

98.

99.

100.

i o
4NH,(g) + 50,(g) = 4NO(g) + 6H,0(1)
W 4 3l NH, T 4 siter O,9ee fhar &< & ot -
(1) 4.89 H,O5=m
(2) 3.29=T NOTAM
(3) & NH, @ & e
@) 3 132
Yo YT T IO R 562 o ST AVEA A HA
s s § M 70.0%2 ¢
(1) M0,
2) M0,
3) MO
(4) T F FE 78
6 TGl I FACH & A & T 2 TR Il
TS ol & A A& Ay ™ :
a. n=4,1=2, m=-2,s=-1/2
b. n=3,1=2,m=1,s=+1/2
c. n=4,1=1, m=0,s=+1/2
d. n=3,I1=2,m=-2,s=-1/2
e. n=3,I=1,m=-1,s= +1/2
(1) e<b=d<c<a
(2) e>b=d>c>a
(3) e>b=d<c<a
4) e<b<d<c<a
20 fodl 80 9T I[€ TAT TR &I T/ HA WIS
B9 91 CaO & 9F B0 :
(1) 1.62 x10%gm
(2) 1.80 x103gm
(3) 2.70 x10*gm
(4) 8.96x10%gm



TOPIC : Full Syllabus [NCERT-1]

SECTION-A-[BOTANY]

SECTION-A-[BOTANY]

101. How many matching are Incorrect

a. Yeast — Bread and beer
b. Penicillium — Antibiotics

¢c. Yeast — Unicellular fungi
d. Yeast — Multicellular fungi
e. Mycorrhiza - Symbiosis

(1) 3

2) 4

@) 2

@) 1

102. Oogamous type of sexual reproduction are
occurs in

(1
(2
3
4

) Chlorophyceae
) Phaeophyceae
) Rhodophyceae
) All of these

103. Main Arena of cellular activities in both the plant
and animal cells :

(1) Nucleus

(2) Cytoplasm
(3) Golgibodies
{4) Mitochondria

104. Which organelles are common in both prokaryotic
as well as eukaryotic cells :

(1) 70 S Ribosome

(2) 80 S Ribosome

(3) 70 S and 80 S Ribosome
(4) Lysosome

105.The best stage to view structure, size and to
count the number of chromosomes is

(1
2

Metaphase

—

Late prophase

3

—

Telophase

)
)
)
)

(4) Interphase

101. e ST e 2

a. 4 - % IR IR

b. tRRiferm - e
c. 4 -  UHEHEHE FIH
d. 4 - GEHEEHE HF
e. WIS - gEslE

(1) 3

@) 4

@) 2

4) 1
102. TSRS TR &1 AR o= FRad 9rr sirar @
(1) FAAEFR
(2) wHEEEE
(3) USTr=l
(4) I B+

103. gl 3R S < A R R ST B e
e

(1) F=F

(2) FIEH
(3) TeoTEE
(4) AR

104. FI9 41 TS NHRAAF & 9 & 91y ghRaies
Eﬁﬁlﬂ#ﬂ‘iﬁgz

(1) 70 S VAN

(2) 80 S UEEM

(3) 70 S 3R 80 S UgAE™
(4) wrgEEw

105.Fr9 e I U I T, TR AR F& F
G O 2

(1) A==

(2) TTegEEEn

(3) A==
4) e



106.

107.

108.

109.

Assertion (A) : In Eukaryotes mitochondria and
chloroplast are semiautonomous organelles.

Reason (R) : Mitochondria and chloroplast have
its own DNA and protein synthesizing machinery
In the light of the above statements, choose the
correct answer from the options given below

(1) Both (A)and (R) are true but (R) is not the correct
explanation of (A)

(2) (A)is true but (R) is false
(3) (A)is false but (R) is true

(4) Both (A) and (R) are true and (R) is the correct
explanation of (A)

Assertion (A) : In Cycas female cone is absent

Reason (R) : In Cycas due to large size of ovule
megasporophyll are not associates to form female
cone

(1) Both (A) and (R) are true but (R) is not the correct

explanation of (A)
(2) (A)is true but (R) is false
(3) (A)is false but (R) is true

(4) Both (A) and (R) are true and (R) is the correct

explanation of (A)
Which one of the following is the incorrect match
(1) Synapsis - Synaptonemal complex
(2) Chiasmata - C-shaped structures

(3) Anaphase | - Homologous
chromosome separate
(4) Anaphasell - Splitting of centromere

How many matching are correct with reference
toRQ

(a) Glucose-1

{b) Tripalmitin - 1.7

{c) Malic acid - More than 1

{d) Alchoholic fermentation - infinite
(1) 2

(2
3

) 3
) 4
@) 1

106.

107.

FUT (A) : gRAlcE ¥ MEeti-gar 3 sRa @a®
ST HIABTT B 21

HRT (R) : ASCIepii-gar 3R eRa @199 & 99 9T @
%1 DNA 3R 9 I3yl &t 909 2k 21

S 123 1 o A AeE A, R R R e

& 99 e

(1) (A) 3R (R) 3 T4 & AT (R) @1 e 18 2
(A) =1

2) (A)wE 2 =T (R) e B

3) (A) 7o & =R (R) &8 3

(4) (A) 3R (R) 3 ¥ & 3R (R)&E) == & (A)

F (A) :GEHY A ART N ATIRYS el €

T (R) : AIFHY § A0S T HHR 98T 937 & o

& HRT & AAEe] 3TE ¥ 2 9 9 2 e A

HENCEIC RG]

(1) (A) 3R (R)3F 7t & Afer (R) et = =78 2
(A) &1

2) (A)9E 2 A (R) T &

(3) (A) e B A (R)wer &

@) (A)3R (R)3 981 & 3R (R) 981 AT & (A) F

108. Ffeiaa A & &l 9 ATFIar e 2

(1) R GFGFEHA - R |y

(2) FRSH - C-3ME i wE@

(3) wEEEE | - EHT U™ HT T

BT

(4) wEmEE - TV g & ST B
109. Rreit JIgeTar RQ & &= ¥ wdl 21

(a) TRl -1

(b) rEYRIfe - 1.7

(c) el aFet - 19 WET
(d) Teisend fRvae - JEE
(1) 2

@) 3

@) 4

) 1



110. Planaria shows:
(1) False regeneration
(2) Trueregeneration
(3) Vegetative reproduction
(4) Both2and3

111. Which of the following is a bacterial disease :
(1) White rust of crucifer
(2) Early blight of potato
(3) Citrus canker
(4) Black rust of wheat

112. Fungal cell wall is composed of :
(1) Chitin and polysaccharides
(2) Cellulose and polysaccharides
(3) Non cellulosic
(4) Both1and3

113. Which one of the following statements are
incorrect with reference to plant hormones

(1) Decapitation widely applied in tea plantations
(2) 2,4-D used as Herbicides
(3) Auxin also controls xylem differentiation
(4) 2,4-D is a type of Gibberellins
114. Photochemical phase does not include
(1) light absorption
(2) Water splitting and O, release

(3) ATP and NADPH formation

(4) CO, fixation

115. The correct sequence of flow of electrons in the

light reaction is

(1) PSII, plastoquinone, cytochromes, PSI, ferredoxin

2)
3) PSI, ferredoxin, PSIl,
(4)

(
(

PSI, plastoquinone, cytochromes, PSII, ferredoxin

PSI, cytochromes, plastoquinone, PSII, ferredoxin

110.

112.

113.

114.

115.

ARar w41 yefifa w@Ere -

THE ol BN AR fFEd T
(1) sles 3 diferddage

(2) ey 3R wiferdshage

(3) A FeATR

@) 171 3 3

Frefafag ¥ 9 &I 91 FU ey eRiA & e o
e ®:

(1) Rr=3e =Me 9 ¥ 99 U7 § I Bl B
(2) 2, 4-D EFAR AT &1 TE TEAA Bl ©
(3) 3t Sgew fa¥es &1 Fafeaa < @

(4) 2,4-D & YFR &I e 8

YT TERIE 9T 3 ARt w6 star @

(1) SeTET S

(2) ST T T 3K SIS FT Jeaford BT
(3) ATP 3k NADPH &l S+

(4) CO, T Fudaro

gehrar AfRRAT A Sl & WaTe T €S F T 2
(1) PS |I, ARCIFAN, WRCHRA, PSI, Ba=irad

(2) PSI, <R, ATEeih, PS II, Rasiea
(3) PSI, =i, PSII,

(4) PSI|, WIECHM, SRR, PS I, SaSiea



116. Respiratory quotient depends upon

117.

118.

119.

120.

(1) type of substrate used during respiration
(2) amount of substrate used during respiration
(3) state of substrate used during respiration

(4) Both 2 and 3

Sporophyte do not have an independent free living
existence in

Pteris, Funaria, Riccia, Marchantia, Pinus, Cycas,
Polytrichum, Cedrus, Sequoia

(1) 3

2 1

(3) 4

@ 5

Palisade parenchyma is absent in leaves of:

(1) Grasses

)
(3)
4)

Mustard
Soyabean
Gram

In addition along with the transpiration stream the
nodules of some plants export the fixed nitrogen
as Ureides. These compound, also have a
particularly :

(1) High sulphur to carbon ratio
(2) High carbon to nitrogen ratio

(3) High nitrogen to carbon ratio

(4) High nitrogen to sulphur ratio

Which one of the following is correct for the given
diagram :

(1) A-Synthetic phase

(2) C—Mostdramatic phase
(3) B-Gap1

(4) D-DNA synthesis

116. T8 U i vear 2

(1) 99 P T ST A A aleT 798 TR’ & YR
'q'{

(2) § P TR TGEAT ThaTeR T AT |
(3) G & <N T9eE foRamuR &) srEe )
@) 2333k
117. AvS3FE T qUiad: ad sha- =8t 9rar I e
areilgTEeR, Riga, Rresm
(1 3
@ 1
@) 4
4) 5
Fraa uftrl ¥ eiide ez 8 aar 2
(1) =™
@) Tl
(3) WA
@) ==
F£2 N Tt T g 94916 & 919 & 99
ReR AIRgio @l gReg & w1 3 991 3 21 7 i
Faare:
(1) I G FT I IO F e
(2) I FEA FT I ATGSISH Sl 39eT
(3) I=A B T ST FE &l e
(4) T AAZCISA T ST GF FI e
Frefofaa % 3 3 W R @ foaw w9 98 2:

118.

119.

120.




121. Which of the following cells do not have DNA :

(1) Mature erythrocytes
(2) Sievetube cells
(3) Both1and2
(4) Lysosome
122. Which one of the following is incorrect statement
(1) RuBiSCO presentin C, plant
(2) PEPcase presentin C, plant

(3) RuBiSCO present in both C, and C, plant

(4) OAA compound formed in a pathway called
photorespiration

123. All of the following processes can release CO,

except

(1) alcoholic fermentation

(2) oxidative decarboxylation and Krebs' cycle

(3) Oxidative phosphorylation

(4) Conversion of a-ketoglutaric acid to succinyl Co-A

124. Which is a wrong statement :

(a) Endocrine glands have well developed ducts
(b) Goblet cells are exocrine gland

(c) Digestive enzymes are the endocrine secretion
(d) Cuboidal or columnar epithelium act as gland
(1) a&b

(2) b&ec

(3) a&ec

@) c&d

121. F=IfaRad 3 @ =l 4 iR DNA 7€ wEd 2
(1) 9Ry=T 0T
(2) &9 T FARE
(3) 1 3R 2 3
(4) wrgEEm
122. fop=ifeifaa & @ &9 o1 F9F Tad 2
(1) RuBiSCO C,Tiell % 9T el 2|
(2) PEPcase C, el ¥ Y S 21
(3) RuBISCO C, 3% C 2t el ¥ qrar wire 21
(4) OAATIIF v Jehmads I & a9ar &

123. Bl TohAl F FERE TTaEe A9 Rigad @ faas
BIsHT |

(1) veprslers frvae

(2) e feamaiiaaT 3R e o

(3) sFRRT FERNETH

@) o- FICNICIRE A T FFIHA Co-A H T

124. 94 & Fi9 91 Y9 FET ©

(a) F=-ur af~r ¥ =aitre ReRa afasd sk
2

(b) Ferer wIFIFRA sfard oy 2
(c) I TS F~-grEl 999 8

(d) TR T TWRIEHR 3951, 979 & 7@ S/ F@
2

(1) a 3R b
) bakc
(3) a dKc
4) c 3R d



125. How many high energy bond are present in ADP

126. Which is the correct for the given below diagram

127.

128.

and ATP respectively :
(Mm 1,2
2) 2,1
@3) 2,2
4) 3,2

of animal

(1) Triploblastic

(2) Unisexual

(3) Pseudocoelomate

(4) All of these

Vital capacity of lungs is :
(1) IRV +ERV

(2) IRV+ TV-RV

(3) IRV+ERV+TV+RV
(4) IRV+ERV+TV

Long exposure of dust in industry results in
(1) lung inflammation

(2) fibrosis

(3) lung damage

(4) allofthese

125. fpa 3= Swl 9= ADP 3R ATP & #991: 98 oI

2

(A 142

@ 2,1

(3) 2,2
@) 3,2

126. = 2 M g & oy @ o == 98 @

4) IR o
127. BHS @l oI EFET B

(1) IRV + ERV

@) IRV+TV-RV
3) IRV + ERV + TV + RV

@) IRV + ERV + TV

128. JARN ¥ ¢[@ervT  AefarTelA T IT & F49T IROIFT 2

(1) B § T
(2) =R

(3) HRST I R
(4) IR



129.

130.

131.

132.

Which one of the following are correct matched :
a. Malpighian body = Glomerulus + PCT

Glomerulus +
Bowman capsules

b. Renal corpuscles =

Glomerulus +
Bowman capsules

c. Malpighian body =

Glomerulus +
Bowman capsule

d. Malpighian tubule =

b, c
b, d
ab
Only ¢

The autonomic nervous system is further classified
into :

(1) Sympathetic and somatic neural system

(2) Parasympathetic and somatic neural system

(3) sympathetic and parasympathetic neural system
(4) central neural and peripheral neural system

The presence of ketone bodeis in urine is the
indication of

(1) Renal calculi
(2) Glomerulonephritis
(3) Diabetes mellitus

(4) Normal functioning of kidney

Identify this diagram

HO

(1) Atype of vitamin

(2) A type of lipids

(3) Atype of nitrogen base
{4) Atype of amino acids

129. FrfeiRaa ¥ & 9 & SFEIaT 981 © -

a. AefiEmE = TAA%ed + PCT

b. ¥ HivE = m

c. AFNNTH = TEEAY +
i e

d. A=frfemr e = TANEEY +
AT T

(1) b, c

@) b,d

@) a,b

(4) F9d ¢

130. W AT 94 9 T faan @
(1) 3R 3wl afa o=
(2) WHFHT 3R FAF AF T
(3) FAFHN 3R WHFH ql-TH T
(@) F= afer ok aRela afer a1
131. AT FE A I3 A IJuReRl ga 21
(1) qef Ferereig
(2) T AT
(3) TepE

(4) IFF F A T FAT

132. 39 o = yeaifFY

HO

(1) T YR & faefE
(2) T gehR = ferfsE
(3) UF YHR I ARG &R
(4) UF YFR FH AT WA



133. The number of glycerol molecule which is present

in mono, Di and Triglycerides respectively :
(1 1,2,3
(2) 0,1,2
@) 1,1, 1
4) 2,3,4

134. In the given below diagram of brain which part
are contains pneumotaxic centre

(M A
2 B
@ C
4) D

135. Sliding filament theory can be best explained as:

(1) Actin and myosin filaments do not shorten but
rather slide pass each other

(2) When myofilaments slide pass each other, myosin
filaments shorten while actin filaments do not
shorten

(3) When myofilaments slide pass each other actin
filaments shorten while myosin filaments do not

shorten

)

Actin and myosin filaments shorten and slide pass
each other

SECTION-B - [BOTANY]

136. Which hormone is a steroid hormone :
(1) Cortisol
(2) Estradiol

(3) Progesterone

(4) All of these

133. fraraaer AvpEi o we o 76 A9, o5 ol grdiierase
¥ woEr: IRy Bl ©
1) 1,2,3
2) 0,1,2
@) 1,1, 1
) 2,34

134. 2 1 ARasw @RI A 9 A1 90 FRFF I
e 2

(1 A
(2) B
3) C
(4) D

135. q e il 39 99R 3= 9@ 99 S 9&dan

s

(1) ol 3R AEE T B T8 B S Sfod T g
R 9E B

(2) 9IS AR U SO TR ARl & AREH 9 ST 8
T 21 el g awg Sie 78 B # |

(3) I WA UF T8 T AT & Ufged A= SId 8
S SIS G172 1 S o e ol B S

(4) ofes 3 AERIE 9 S B A 8 3R U T W
TWEd 2

SECTION-B - [BOTANY]
136. =T o @l ® g s @

(1) FIfcam

(2) TR

(3) TR

(4) IR a4




137.

138.

139.

140.

Which is a wrong statement regarding adrenal

cortex:

{a) Epinephrine stimulates sympathetic nervous

system
{b) Cortisol is a hypoglycemic hormone
{c) Cortisol is a glucocorticoid
Cortisol suppresses the immune response
aandb
bandc
candd

Only b

Which blood group is universal donor :

Which leucocytes are 20-25% of total WBCs :

(1) Basophil

(2) Eosinophil

(3) Monocyte

(4) Lymphocyte

What would be the stroke volume of a person if

the cardiac output is increased to 7.2 litre but heart

of person beats normally as it is initially :

(1) 90 ml

() 80ml

(3) 100 ml

@) 120 ml

137.

138.

139.

140.

TS IS A THEIFEE I 9T A AT 2
(a) T RetaRe afFaw o= I sxfve w2
(b) FIETAT Yo EIFYNTERIFR €4l €

(c) Tl Uah TqHIFICIFAIS B

(d) =wITarer gioee 93 9 giifear i FeRRE o e
(1) adkb

(2) b3 c

(3) c3Rd

(4) FFTb

I 9T & 9E A ST e

(1) AB

@ A

3) B

4) O

i1 O TFIaIge BT WBCs & 20-25% Bl @

(1) Sk

(2) AR

(3) ArETEE

(4) ferrrse

s AfFT & 918 AFGT 1 B0 IR geiHeE

TETaR 7.2%0eT FL o1 S «fh =afe &1 g Wed
8o &I OiE 9 21

(1) 90ml
) 80ml
3) 100ml

@) 120 ml



141. Which one of the following carbohydrates does
not gives glucose as a product after digestion

through enzymes :
(1) Maltose
(2) Lactose
(3) Sucrose

(4) Galactose

142. Which one of the following is the incorrect
(1) Ribs - 24
(2) Sternum -1
(3) Patella - Forelimb bone

(4) Appendicular skeleton- Limbs

143. How many matching are correct with reference to

cockroach

a. Ommatidia - Hexagonal
b. Cockroach - Mosaic vision
c. Urecose gland - Excretion

d. Spermatheca Male cockroach

(1) 4
) 2
3) 3
@) 1

144. The scala vestibuli, scala media and scala tympani

of cochlea are filled with which fluid respectively:
(1) perilymph, endolymph, perilymph
(2) perilymph, perilymph, endolymph
(3) endolymph, perilymph, endolymph
(4) endolymph, endolymph, perilymph
145.

Which one of the following is incorrect match :

(1) Ammonotelic — Agquatic insect

(2) Ureotelic — Frog
(3) Uricotelic — Cockroach
(4) Ureotelic — Birds

141. frifafad & &9 a1 FEieRse 21 W oongH @
WA A Y & 9% Tk IR D ¥ A TS T8l
e

142. F=ifefaa ? @ ®I9 9 sgeyar o9 B
(1) vaferE - 24
2) Iy - 1
(3) wlemm - e AR
(4) I FFT - e

143. THai T HiHUd B T ¥ w6l 2
a. AN - eI
b. Hiwdd - Asian gfte
c. giaa ufar - BT
d. IHulRe - T FHda

@) 3
@) 1

144, Thal IENGeR, Whear AfRar IR Whar R+ frg o
A wam: Wl gs e 2

(1) Yo, g=ifer, Jafers
(2) JAfer, 3o R, TR h
(3) TR, YafeRs, TRITen
(4) wifer, TRifer T, s
145. Ffalaa o /@ 9 9@ eI J9w 2

(1) Frnfar It - T Fie
(2) qRarsEsi - WH
(3) R+ 37« Ioaell - FrRAA
(4) FRarIE L



146. ldentify, whether the given conditions are anabolic
or catabolic :

l. Glucose — Lactic acid

Il. Amino acids — Proteins
(1
2) l-anabolic; ll-catabolic
(3)
(4)

Which of the following is not a characteristic of
prokaryotic cell?

(1
(2)
(3)
4)

I-catabolic; |l-catabolic

—

I-catabolic; ll-anabolic
l-anabolic; ll-anabolic
147.

Mesocsome

Circular DNA
Chromatophores

Membrane bound organelles

148.In meiosis how many cycle of DNA replication
occurs :

(1) One
(2) Two
(3) Three
(4) No replication occurs.

149. Among China rose, Mustard, Brinjal, Potato,

Guava, Cucumber and tulip how many plants have
superior ovary :

(1) Six
(2) Three
(3) Four
(4) Five
150.

Different type of figure of cell organelles are given
below. How many figure in which ATP formation
takes place :

146. ye=nte fr & 7€ Rufaat o=t @ ar s
l. T - dfew ad
Il. A I - 9N
(1) |-31=rdt; |13y
2) |3T; |I-3a=
(3) |-39=rd; II-39=rit
@) 1-3T=E; 11393y
147. Frifoiaa ¥ 9 S NRRAIRE FIReET H1 Aeor 8
7
(1) HEEw

(2) geaRR DNA
(3) RN
4) Treett 9iag 3T

148. JefgAl faveA ¥ Siee feae & fre = afeq 29
&

(1) v=n
@ @
(3 dH
(4) T =& € &

149. 58, @I, T, A, 96, FHFA TG ¢folT D
aiw e qlen’ I Fedadt e 2

M s
(2) 9F
(3) =X
(4) dr=

150. IR YR & FRIEE TR« =R RE w2
e Rt & o1 1 Rt siar 2




SECTION-A -[ZO0OLOGY]

SECTION-A-[ZOOLOGY]

151.

152.

153.

154.

155.

In C, plant the light reaction are takes place in :
(1) Mesophyll cells

(2) Bundle sheath cells

(3) Light reaction not takes place

(4) Both 1 and 2

In a cell in aerobic respiration what is the correct

sequence of different process :

(M

Glycolysis — Oxidative decarboxylation — Kreb's
Cycle - ETS

)

Glycolysis — Oxidative decarboxylation — Kreb's

Cycle — TCA cycle
3)
)

Formation of meristems—interfascicular cambium

Glycolysis — Fermentation — TCA cycle - ETS

Glycolysis — Fermentation — Kreb's Cycle - ETS

and cork cambium from fully differentiated

parenchyma cells are example of :
(1) Differentiation

(2) Dedifferentiation

(3) Redifferentiation

(4) Plasticity

Out of the four components of xylem how many

components are living and dead respectively:

(1 3,1

Which one gives the most valid and recent

explanation for stomatal movement :
(1) Starch hydrolysis

(2) Guard cell photosynthesis

(3) Transpiration

(4) Potassium influx and efflux

151.

152.

153.

154.

155.

C, e ¥ gerrar if¥ifoar et sl @ -

(1) oA e A

(2) sEoTET TR #

(3) gar Sfiferar =1 Bl 2

@) 13k 239t

v I A aga e 3 i yaarsn & 96
TR

(1) g — FRIRRT SFmiTT — &d ah
-,

(2) TeTgeRIfeeE — iERseT SR — #e =F
%ﬁﬁqﬂﬂ?

(3) TSR~ fFvas - FhT w=F > A
(4) TR — fFvad — &9 TF — T

s &1 i srauyed aifte SiReaT @ we
S &1 oiaar AR R Sl 3 @
HodMT @ ¢

(1) st
@) e
(3) Tt
(4) wfEetad

A & 9K 3699 A ¥ fhaa 3989 F9T: 9eilg 3R
‘lﬂfz;ﬁ%:

(1) 3,1
) 2,2
@) 1,3
4) 4,0

=1 ¥ @ =l gaifas du 3 s & &1 e
21 @Y 994 & foe

(1) =R S 3T

(2) T HIAET F T FIAGY]
(3) aArE

(4) WefEm T 3R SR



156. What is the pyrenoids

157.

158.

159.

160.

161.

(1) Pigment containing body for photosynthesis
(2) Food storage bodies

(3) Pigment containing bodies for respiration

(4) Gamete producing structure in phaeophyceae

In animal cells during which phase the centriole

duplicates in the cytoplasm

(1) G,phase

(2) Sphase

(3) G,phase

(4) Mphase

Plastids are present in :

(1) All plant cells only

(2) All plant cells and Euglenoides
(3) Some plant cells

(4) Cyanobacteria

Which subphylum is exclusively marine :
(1) Echinodermata

(2) Ctenophora

(3) Cephalochordata

(4) All of these

Which of the following is incorrect match

(1) Squamous epithelium Air sac of lungs

(2) Cubcidal epithelium Ducts of glands

(3) Ciliated epithelium Bronchioles

(4) Columnar epithelium Blood vessels

A molecule of haemoglobin carries oxygen

molecules:

(1)1

156. TS F41 @ -
(1) I Geeiaer & fore 9ot @ A fve
(2) o "9 WA arer five
(3) e & v aviw WA aren five
@) FIAETEE ¥ gEE I e aRl E

157. g iRl A fora yren & <k g @

wifrhresy A gzayer Shar 2
(1) G, e
(2) S g
(3) G, raen
(4) M g
158. A9 IRIT ST € |
(1) Faa ¥ 9= TR A
(2) &7 UeT FIRES K Ry
(3) TS UIeY FHifAEwTET #
(4) BRAREFART

(2) SR
(3) ¥RARIST
4) SR o
160. =1 ¥ & =l a1 Rre= 3 @
(1) I=ET JUhell -GS & A T
(2) wFTRR Il - g #it afRfEr
(3) & IuFAT ~ T
(4) WHHR STHel - & afEEE

161. T ST & A Ao & foha- AV o ST

?:
(1)1
(2)2
(3)3

(@)=



162.

163.

164.

165.

166.

A chemosensitive area situated adjacent to the

rhythm center, is highly sensitive to

(1) €O

2 H

@) O

2

(4) Both 1and?2

Which one of the following statements is correct

with respect to kidney function regulation :

(™

When someone drinks lot of water, ADH release is

suppressed.

@)

Exposure to cold temperature stimulates ADH

release.

©)

An increase in glomerular blood flow stimulates

formation of angiotensin II.

)

During summer when body loses lot of water by

evaporation, the release of ADH is suppressed.

A man is eating the variety of food. During eating
the food they smell the food and after eating the
food he realise that smell of food and taste of food
are very good. Which sensory organ are work for

this realisation respectively :
(1) Olfactory receptors, gustatory receptors
(2) Gustatory receptors, olfactory receptors

(3) Olfactory receptors, pons

(4) Gustatory receptors, medulla
Which one of the following is the correct match

(1) Secretin - Steroidal hormone

(2) CCK - Peptide hormone
(3) GIP - lodinated hormone
(4) Cortisol - Peptide hormone
The living state is a

No metabolism

(1)
(2) Equilibrium steady - state
(3)

)

4

Non Equilibrium steady - state

Non Equilibrium steady - state not to be able to
perform work

162.

163.

164.

165.

166.

U WA 9941 &7 Sl foF o % & Tohed 99 A B
2, Jcaftrn €ad S 2

(1) Co,
(2) H
@) G,
4) 3 1372

FefaRaT & 9 91 w99 g9 frans & P &
forg &t 2

(1) o =Yg reafires 4= § 9T ], ADH e 81
&3 B I 8

(2) ST A F 9§ T ADH T ¢ il 92raT
o

(3) =5 T Y4 # qEead YeorieaT |1 & fior
Ferar &l B

(4) I FF & I FF TR IFARF G- F G
fererar 21 avfieRer & 8R1, ADH 9o BT &3 B
ST 2

U TS S YhR & GFT 9T 8 1 §F1 9[99
@M & T Y G 2 IR G IR D 9% 98 I
w0l 3 % @R 9t U ik @9 1 @R A4 95d
=T B FI A1 G T FAY: T N D forg Fd
FLER:

(1) =TT UTE, EIATE

(2) TEUTEN, 9197 UTEN

(3) =ToT WTET, T

(4) TEUE, Aggen

frfafaa ¥ ¥ w19 9 sqeTar a8 21
EETIC] - R s
JeeTgE B
AT g s
JeeTgE B

E
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NLI/41



167. The presence of competitive inhibitor causes what

effect on enzyme activity
a. Decrease the Km value
b. Increase the Km value

c. A competitive inhibitor reacts reversibly with

enzyme to form an enzyme-inhibitor complex.

d. Increase the rate of break down of the enzyme

substrate complex.
ab,d

b, c

b,c, d

c, d

168. Which one of the following is incorrect match :

(1) Primary metabolite — Sugars

(2) Secondary metabolite — Rubber

(3) GLUT4 — Fightinfectious agent

(4) Alkaloids — Codeine

169. The elastic fibres which bisects the |-band is known

as

(1) M-line

(2) Z-line

(3) Tropomyosin

(4) H-Zone

170. Which one of the following is correct match :

a. Fibrinogen i. Monocytes

b. Phagocyticcells ii. Blood clotting
¢. Basophils iii. Osmotic balance

d. Albumins iv. Inflammatory

reactions
a-ii, b-i, c-iv, d-iii
a-i, b-ii, c-iii, d-iv
a-i, b-iv, c-ii, d-iii

a-ii, b-iii, c-i, d-iv

167.

168.

169.

170.

gfoeqeiicre 9eued 9 Juitafa & HRoT e 1 asiEar
W G I IS ©

a. Km¥H & 9™

b. Km3F HI 9€HT

c. IRl g3 et & 9 ol aftifear w
e -aswe Sifew &l a9mT B

d. fao fFamuR SRRd & gea 9t | A 99

a, b, d

@) b, c
@) b,c,d

@ c, d
Fefeiaa & 3 <l 9 SeTar 3w

(1) I ITIeEs - e

(2) fedige Iug=asr - W

(3) GLUT-4 ~ WSl § el
(4) wheilEd - HRH

3 gafkes ag W AE-d= B A TR AN F
o @ € Fead @

(1) -

(2) ST-¥@n

(3) g

(4) TF-F

Frafafaa & 3 Fi9 9 srgevar @& 2

a. FEREEE i. AR

b. ST FITHH ii. YT wha
c. ¥4Ifka iii. Al aged
d. CesIie iv. SRR o

(1) a-ii, b, c-iv, d-iii
(2) a-i, b-ii, c-iii, d-iv
(3) a-i, b-iv, c-ii, d-iii

@) a-ii, biii, c-i, d-iv



171.

172.

173.

Which one of the following are sensory organ of

cockroach:

a. Maxillary palps
b. Labial palps

c. Anal cerci

d. eyes

e. Antennae

(1) Onlya,b,d, e
(2) Onlya,c,d, e
(3) Onlya,d, e

4) a,b,c,d, e

Marasmus disorder is produced by the
simultaneous deficiency of :

(1
2
&)
4

Carbohydrates and calorie
Protein and calorie

)
)
) Fatand calorie

) Vitamin and calorie

Plant follows different pathways in response to
environment to form different kind of structures

called

(1) Senescence
(2) Plasticity
(3) Differentiation

(4) Dedifferntiation

174. Which one of the following is the correct match :

a. Radial symmetry i. Earthworm

b. Bilateral symmetry ii. Spongilla

¢. Asymmetrical iii. Aurelia
d. Alternation of iv. Obelia
generation

(1) a, b-ii, c-iii, d-iv
2) a-ii, b-i, c-iv, d-iii
3) a-iii, b, c-ii, d-iv
(4) a-iv, b, c-ii, d-iii

171. FfoRaa & @ &9 ieda A 98 JT 2
a. el wtw
b. e wslew
c. W<
d. dirg
e. s
(1) ®9e a, b, d, e
(2) 977 a, ¢, d, e
(3) ®ad a, d, e
4) a,b,c,d, e
172. I FFR v 9 Fraal s I ST aiar @ ¢
(1) FEEEge AR Sl
(2) M IR FAY
(3) T4T 3R AT
(4) TaeTRe 3R g

173. gtel qgiaeer & gfafear & R 1= & IR @ Al
1 IR &) SR F 91 @ 39 Fed ©

174. F=ifaRaa & 3 &l 4 segar w9 =
a. J0g R i arfad
b. Teurd wiifa ii. e
c. FGARIT iii. JRiferar
d. ) g iv. naferan
(1) a-i, b-ii, cii, d-iv
) a-ii, b-i, c-iv, d-iil
(3) a-iii, b-i, c-ii, d-iv

@) a-iv, b-i, c-ii, d-iii



175. Which of the following statements are incorrect

176.

177.

178.

with reference to eukaryotic cell:
(1) It has true nucleus
(2) Ithas membrane bound cell organelles

(3) Their genetic material is organised into
chromosomes

(4) All eukaryotic cells are identical
Match the following column | and column II:
Column |l

(i) Histidine

Column |

. Acidic amino acid

A

B. Aromatic amino acid (ii) Leucine
C. Neutral amino acid (iii) Glutamic acid
D

Basic amino acid (iv) Phenylalanine

(1) A—iii, B—iv,C—ii,D —i
(2) A—ii, B —iii, C—iv,D —i
@) A—i,B—iv, C—iii, D —ii
“4) A—iv,B—iii, C—1i, D —ii

Which of the following is incorrect option for
apoplast :

(1) It is the system of adjacent cell wall that is
continous through out the plant except at the
casparian strip of endodermis

(2) In apoplast movement of water occur through
intercellular space

(3) In apoplast movement of water is not dependent
on gradient

(4) The apoplast does not provide any barrier to water
movement

Match the element with its associated functions/
roles and choose the correct option among given
below

A. Boron i. Splitting of H,0 to
liberate O, during
photosynthesis

B. Chlorine ii. Needed for synthesis

of auxins

C. Molybdenum ili. Component of

nitrogenase
D. Zinc iv. Pollen germination

E. Iron v. Component of

ferredoxin
A-i, B-ii, C-iii, D-iv, E-v
A-iv, B-i, C-iii, D-ii, E-v
A-iii, B-ii, C-iv, D-v, E-i
A-ii, B-iii, C-v, D-i, E-iv

175. ZHRAAF RIRET & =< A 4 91 F9F A9A 2

(
Q?ﬁﬁﬁ%%ﬁﬂ@ﬂéﬁ%Mamxumﬂ%
(3) =TI AERE oY oS ¥ 9IS Bia B

)
)
)
@) B gFRAfeE RRE vF T9H SR B

176. Ffeifea @i & Qifera Tk

| -1 @ -l
A FRIE oRE R Q. ReEEA
B. Qe ol s i wgfee
C. J°dM wRFl 3F i T aF
D. =109 TR iv. BTN
(1) A—iii, B—iv, C—ii, D —i
() A—ii,B—iii, C—iv,D —i
(3) A—i, B—iv, C —iii, D —ii
4) A—iv, B —iii, C—i, D —ii

177. fr=fafaT ¥ wiiare & fog <9 a1 faeey @ 2

(1) 9% 99 39 U9 FI HIFEERTEIT § @9 96T § q@r
ST & 39 ®9 9 3Fiaea & hauRa Jee i
0 s 4 g

2) TeRe ¥ Se @) TAfaf sy e A et
2

) TOARE ¥ Y T AT g9OET R iR 56 B @
@) TiERT ST & qReed ¥ FS 9T 985 ST

178. A4l & FMET B T4 ® FTAR P R I FAT

& g ot e A W E

A i. H,0® dIsar 2 O,
e 2 g
AT & A

B. FIGA AT & FIelwor
&G B

C. Wienfaferr iii. SIS # Hew 2

D. Fiw iv. JUETERYT AHLT

E. g TSI & HCHh

(1) A-i, B-ii, C-iii, D-iv, E-v

(2) A-iv, B-i, C-iii, D-ii, E-v

(3) Aviii, B-ii, C-iv, D-v, E-

(4) A-ii, B-iii, C-v, D-i, E-iv



179.

180.

181.

182.

In human body many hormones interact with
intracellular receptors mostly gene expressions
or chromosome function by the interaction of
hormone receptor complex with the genome. In
the given below example how many hormones
are such type :

Progesterone, Estrogen, Thyroxine, Insulin,
Glucagon, Androgen, Cortisol, Aldosterone, GIP,
ANF, CCK

M7
(2) &
(3) 8
4 5

In seed presence of which chemical inhibitors
causes dormancy :

a. Phenolic acids

b. Para ascorbic acid

c. abscissic acids

Only ¢

ab,c

Only a, ¢

Only b, ¢

Which is a correct statement

(a)

Trachea is a straight tube extending upto the
mid abdominal cavity

(b)
()

Pleural fluid is present between two lungs

Thoracic chamber is dorsally formed by
cervical vertebrae

(d)

We can not directly alter the pulmonary
volume

(1
2
3
“)

Which one of the following is the correct
description of a certain part of a normal human
skeleton

) aandb
) bandc
) onlyc

only d

Parietal bone of the skull are paired
First vertebra is atlas

The 9th and 10th pairs of ribs are called floating
ribs

Both 1 and 2

179.

180.

181.

182.

479 IR ¥ 4 sFie sauniRlE miRa @ a9
Frar ot srivre) 9y o oA & aeaRe R
¥ WA @ PR srEr A e &1 B e
21 R 23 13 SN ¥ @ frae sMiY @ TSR @
2

FIEHM, TeRIke T, GIP, ANF, CCK

@) 8
4) 5

9 ¥ fra vamEhE Jares 9t IRyl 9w ¥ wgia
&1 A FE € :

a. GiHier® 3

b. -wEIa® 3P
c. T A

(1) ®ad ¢

(2) a,b, c

(3) Fad a, ¢

4) Fadb, ¢

I 9 FY G99 2

(a) ¥ ~Tell g ol el © W % Mg IET 9
Hell Bl 2

(b) 3N BEHS & T4 FEUREECT 29 AT 2

(c) % I[ET I ¥ae % War HATH & SR o147 ©
(d) & 4t Ropdia SEaeT I 6 9ed 9 B
(1) a3iRb

(2) b3 c

(3) Fad ¢
(4) Faerd

AFTT 99 T & 6 Ry @ Rie s ar
i o 2

(1) QIS F Wged ARy I F B 2

(2) TERT FIEH TTAY B

(3) 98 3 108 TS 1 vyHferdt FART vaferdl FEar
o

(4) 13 2 24



183.

184.

185.

Which is a correct matching set
Column-I| Column-ll
a. pO0, in the alveoli i. 05L
b. pO, of oxygenated ii. 1L
blood
c. ERV iii. 95 mm Hg
d. Tidal volume iv. 104 mm Hg

a-iv, b-iii, c-ii, d-i
a-i, b-iii, c-ii, d-iv
a-iii, b-ii, c-iv, d-i
“)

Which one of the following is not a correct
Statement:

a-ii, b-iii, c-iv, d-i

(1) Herbarium houses dried, pressed and preserved
plant specimens

(2) Botanical gardens have collection of living plants
for reference

(3) A museum has collection of photographs of
plants and animals

(4) Key is a taxonomic aid for identification of
specimens

How many of the following are correct among
Plasmodium, Trichoderma and Mycoplasma :

All are photosynthetic

o o

All are flagellated organisms

These are belongs to different kingdom.

o o

All are unicellular organism.
2 3
(4) 1
SECTION-B - [ZOOLOGY]

186.

Choose correct statements :
First chlorophilous thallophyte is algae
First embryo less thallophyte is bryophyte

¢. First plant have embryo & No vascular tissue
is pteridophyte

d. Seed habit occurs in Selaginella
e. Firsttime seed in gymnosperm
(1) a,b (2)a,dand e
(3) a,b,d, e (4) All of these

183. 4 Gifera 2

-l a=n-ll
a. %S A po, i. 05L
b. Frdigd W& 6 ii. 1L
PO,
c. ERV iii. 95 mm Hg
d. &g A iv. 104 mm Hg

a-iv, b-iii, c-ii, d-i
a-i, b-iii, c-ii, d-iv
a-iii, b-ii, c-iv, d-i
a-ii, biii, c-iv, d-i
184. Frfoiad 3 4 &l -41 Fu+ 9 7181 @:
(1) =R GUered § el & U 9 gEe
U9 TERY RS R B
(2) Tt I ¥ Sifad aed @ ' @ ol
veRia faar ST 2
(3) WURE ¥ U T T3l & Al T UE e B
(4) ol Al N TEAMA FT GRIET GRRET A
E

185. ISAIRA, Crgahisdl IR AgehIelror & s Ffafa
T3 FME R

a. @ T aTaldt 21
b. &t welforen g ST 21
c. ¥ - fHIsH ¥ e wEd 2|
d. & v Sy s 2)
(1) 4 (2 3
(3) 2 @ 1
SECTION-B - [ZOOLOGY]
186. 9 &Y B 91 :
999 FeRifthed delwrge da @
g9 v FEA delwRe TRwET @

TR YU TUT 995 SHas el aer 2RawRe
2

d. divit wefy ReRAer ¥ Tl o 2
e. T 9 Yo 99 Sl B 2
(1) ab (2) a,d3iRe

(3) a,b,d,e @)

o o

2



187. Which is the incorrect statement regarding
classification system

(1) Adrtificial system gave equal weightage to vegetative
and sexual characteristics

(2) Natural classification systems were based on
natural affinities among the organisms

(3) Phylogenetic classification system assumes that
organism of same taxa have distant ancestory

(4) In numerical taxonomy, each character is given

equal importance
188. Find out the correct statements

a. The roots which store food in Turnip are
adventitious roots

b. Stems of maize and sugarcane have stilt roots
coming out from upper nodes

c. In Monstera, roots arise from parts other than
radicle

d. Colocasia stem may acts as organ of
perennation

(1) c. d
(2) a,c,d
3) bc,d
4) a,b
189. In the given below example, How many animals
in which Three chambered heart occurs :
Dog fish, Saw fish, Flying fish,
Hyla, Bufo, Salamander, Clarias
(1)
@ 3
@) 2
4) 5
190. How many statement are correct for given
diagram:

It is marine
Triplobalstic

a
b

c. ltis fresh water
d. Itis unisexual
e

Ostia present
2

3
4
1

187. qaffane] el & T A I FYU © ¢
(1) &P Fita= =aen ¥ w7 Al a=o @
I AeeT (Ie) o T |
(2) el T Fae Sl § IEaE aHE |

FENRT B

(3) ifr FATERO] e F AR U & o &
ﬁa@wmmﬁm%

(4) G T ¥, 9T ALY Sl 99F Hee e
ST B

188. T HYUA T T4 TN

a. A o Ao A Ao 999 &l @ 9 JATEHE

I B 2

b. igﬁr'a'w# FIE A HIY Tiol ¥ Fevadl

c. WU A A, AR & I ek & J=T AN 4
et 2

d. ?@%ﬁm%aﬁﬁtﬂmmaﬁmwﬁm

(1) ¢, d
(2) a, c,d
(3) b,c,d
4) a,b

189. i A 13 I A, A o @ oFd gem @9
RIS Tl YT ST @ e

3T T, aifhar, T fhar,
(1) 4
@) 3
@) 2
@) 5

190. A 1 v & T & Fore e 99 v 2

g8 W@ olellg oidl &
IE gl 2
fear Safea siar 8

2
3
4
1

® oo T @

A — —
BWN =
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191. First and second largest phylum of kingdom | 191. gy ik fedig 99 98¢ I SRIT & 49 FIAM: z
animalia are respectively :

(1) AeTET, AT
(1) Mollusca, Arthropoda

2) FrdareT,
(2) Arthropoda, Annelida @ TSt
(3) Arthropoda, Mollusca @) SATIIET, Hieren

(4) 3TN, TR

(4) Arthropoda, Hemichordata
192. Which of the following are correct for the given 192. Frtferiae 3 @ 123 1 Ry & fore oan wéi 2

below diagram of animal ("

. (a) 98 tﬁk;r Hf¥ 2
(a) Itis tape worm (b) Tsh 9hIX <l AYCT Elzﬁ'f 2
{b) A type of flat worm (c) '{Tﬁﬁtﬁﬁ?{
(c) Pseudometamerism (d) ks
(d) Diploblastic (e) R i
(e) Bilateral symmetry (1) a b, c e
(1) a,b,c, e @ a b.d e
(2) a,b,d, e @) ade
3) a,d, e
(4) Onlya, b, e ) 399 a, b,
193. Secondary meristems can be called as : 193. Tl AReH F F41 et oI Gl 2
(1) Lateral meristem (1) e AR
(2) Cylindrical meristem (2) FeFTeRR AREH
(3) Intercalary meristem 3) ST AR
@) 1and2 4) 132
194. Heartwood & sapwood are part of 194, FI® X Ware e 2
(1) SecondaryPhloem (1) feciiger e =i
(2) Secondary xylem (2) fediiger siger™ =1
(3) Phloem (3) FATH

(4) Both1 &2 @) 13K 23+




195. Select the total number of plants showing axile
placentation from the following :
Dianthus, Primrose, China Rose, Tomato, Lemon,
Tulip, Aloe, Asparagus, Colchicum, Trifolium,
Lupin, Arhar.
(1) 6
@ 7
(3) 8
4) 9
196. Function of Typhlosole in earthworm is
(1) Excretion
(2) Reproduction
(3) Increase absorption area of intestine
(4) locomotion
197. Venous system between which organs is called
renal portal system in frog
(1) liver only
(2) lower parts of body and kidney
(3) kidney only
(4) Lungs and Liver
198. A short stage between Meiosis | and Meiosis Il is
called :
(1) Interphase
(2) Interkinesis
(3) Generation Time
(4) Synthetic phase
199. The Longest stage in M-phase of cell cycle is :
(1) Interphase
(2) Metaphase
(3) Prophase
(4) Telophase

200. Mitotic cell division occur in

(1) Diploid somatic cells in animals
(2) Haploid cell in plant
(3) Diploid cell in plant

(4) Allof the above

195. TG dovs4N Tiia &+ 9 o gtal 3
e B
(1) 6
5 7
3) 8
@) 9
HYH A FATAT T T 21
(1) IeawH
@) S99
(3) 3T F FTAT &F F TG
(4) AT
197. & A o W & 99 @ BR - 99 & gFEE
Fafeer o= =sr s @
(1) o a5
(2) IR & e 9T AR IFF
(3) Hed gFF
(4) T S BT
198. Ao 13K i favies & @ =it a1
AT il Fed ®
(1) HaT=En
(2) FTEEn
(3) SHEM Y
4) Te=ifew gaen
199. HIRFT T I MgTTer A 999 & JIer
OBEELER
(2) weATEE
(3) e
(4) rrEE
200. GGAT A fATS el Btar @
(1) =gt Fi T Tl e &
(2) dieN i T HifdrERT A
(3) el =T faaforer aRifarRr A
(4) I W A

—_—

)
)
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SOLUTION

PHYSICS

SECTION-A

SECTION-A

1

o)

M

[NCERT 265)

Volume of big drop = Volume of 1000 small drop

iTER3 = 1000i nrl
3 3

[NCERT-46]

At same time two velocities of a body can not
possible.

[NCERT-31]

AR g B

[As A = 4nr?]

[NCERT-78]
Retardation of box
f=ma
umg =ma
a=0.5x%10=5m/s?
vZ=u2-2aS

0=(22-2x5x8S

S= i = 0.4 meter
10

(1)

M

M

[NCERT 265]
T g2 &M [T = 1000 SIE g2 FT I

4 nR? =1000 4 nr’
3 3

[NCERT-46]

U & o W R a5y & @ 3 78 o g |

[NCERT-31]

— =22 [As A=4nr’]
p

[NCERT-78]

f=ma

pumg = ma
a=0.5x%10=5m/s?
v2=u?-2aS

0=(22-2x5x8S

S= i = 0.4 meter
10



)

3)

@)

[NCERT-58]
y
v P
0 O,
' X ' 'iR—x)'
4 R >

X
We know that ¥ = Xtan® (LEJ

Now, from figure

xtan 1—x] xtan 1—i
R R
2+
X

(R-x)

tana +tanp =
tano +tanp =tan® 1—i +£tane
R) R

tana +tanf} = tane—%tan9+itan6

tana+tanp=tan o
[NCERT-344]

X, =A, sin(?}t

2n4
X, = Asin| —— |t
and X ( 5T ]

A¢:(2—ﬂ—2RX4Jt
T 5T

-2_"[1_1}T
T| 5

[NCERT-147]

| 5

2m

X

e (2a, -a)
m

~ 2mx(a/2)+mx2a

Ko 3m
X, =4

2m x %— ma
Vew = 3m
Y., =0

@

3

(2

[NCERT-58]

yi

ax ii(x
% R g

B M § y:xtan8(1—%]

3, = g}
xtan 1—5 xtan 1—5
R R
X

(R-x)
X

tana +tanp =tan6| 1-— +£tane
R/ R

tana +tanp =

+

tana +tanp = tane—%tan9+1tan8

tana+tan p =tan 0

X, = A, sin(z_l_—“Jt

and X; = Asin(ﬁjt

5T
A¢_(2n 2nx4]t

[NCERT-344]

T 5T

[NCERT-147]

| 4(33)

2m

X

e (23, -a)
m

_2mx(a/2)+mx2a
- 3m

X

cm

X _=a

cm

2m><§—ma
2

Yom = 3m

ycm :O



T ) [NCERT-345] [ 8. (3) [NCERT-345]
F__du F__du
dr dr
[du=-[Fdr [du=-[Far
u %12 u xg/2
[du=k [ xdx [du=k [ xdx
0 Xg ) il
Kr p9%/2 k 9
U=—|x _ 27"
2[ ]xu U - 5[ ]xg
3, .2
U=-3k% U:—gkxg
9. (3 [NCERT-67] | 9. (3) [NCERT-67]
—[m}—{m}—F=0 [} {m}—F =0
mg sin 6 mg sin B
T _Mmgsinéxm+mx0 T MmgsinBxm+mx0
2m - o’m
T 1 ino 1 )
=5mgsin T:Emgsme
10. (3) [NCERT-193] | 10. (3) [NCERT-193]
W‘ = mg' W' = mg‘
' mg m
W'= h W'= 9 5
1+ i
(1+2] (18]
' W 1
- R\2 4 W'= W > = W'= W
R 4
(1 + —J (1 + _J
R R
1. @) [NCERT-147] | 11. (4) [NCERT-147]
12. (1) [NCERT-289] | 12. (1) [NCERT-289]
Initial and final states are same in all the process. RY T g § yRRY 3K R s e 2
Hence AU = 0; in each case. TARIT AU = 0: BA T
By FLOT; AQ = AW = Area enclosed by curve with _ . _
volume axis. By FLOT; AQ = AW =31 Wit & 999 fvm
- (Area) < (Area) < (Area) = Q, < Q, < Q,. - (BFHE) < (8F%FA) < (§F%d) = Q, < Q, < Q,.




13 (@) [NCERT-297] | 13. (4) [NCERT-297]
Process CD is isochoric as volume is constant, TR CD SR & ok DAGHET 8 i a1
Process DA is isothermal as temperature constant & e R
and Process AB is isobaric as pressure is constant. b 2 AE ® o 2l

14. (4) [NCERT-310] | 14- () [NCERT-319]
Heat given AQ = 20 cal = 20 x 4.2 = 84 J o T I AQ =20cal =20 x4.2 =84 J
Work done AW =50 J T Tar 1 AW =-50J

[As process is anticlockwise]
By first law of thermodynamics Fo TS 3 g ﬁqm:ﬂﬂ
= AU = AQ - AW =84 — (-50) = 134J = AU = AQ — AW = 84 — (~50) = 1344
15. (1) [NCERT-267] 15. (1) [NCERT-267]
- -
W=l =310 =JMSAe) W =JQ = %[mz — JMSAB)
1020002 2
= E(EMR Jm - %(%MRZ}DZ
Rz(ﬂz 2 2
= JMSAB) = A =~ = J(MSAB) = AD = R5J(’;

16. (3) [NCERT-277] 16. (3) [NCERT-277]
XL G _ 62-(10) ©C X-L C  62-(-10) C

uUu-L 100 110-(-10) 100 U-L 100 mzm
C=60°C C = 60°C

7. INCERT376] | 47 g [NCERT-376]

Frequecny of vibration in tight string
0 50 A F g,

P T
n=—.,[—=n T

2l \/; s 3T n= ;\/? =noeJT

m
An AT 1
== x(4%)=2% An AT 1
— =—==x(4%)=2%

n 2T =57 =5 X (4%)=2%

= Number of beats . fyag= & @
2 2
= An=—xn=-—"—"-x100=2 2 2
100>< 100)( —An:mxn:mx100:2
18. (1) [NCERT-382] | 18. (1) [NCERT-382]
Y 30 om _ v _340
n 170 n_ 170
. 340 , 340

nN=———x170=>n'=178.9Hz - —. i

340_17X n 7340_17x170:>n 178.9Hz
=>A-A'=2-19=0.1 =A-A'=2-19=0.1




19.

20.

21.

22,

) [NCERT-314]

Vo, Po, + Vi, Py,
Density of mixture = Pmix =, v,

V02 + VHZ

V(po, +Pr,)  Po, * Py
2V 2

2

[Since Vo, =V, =V]

+16

2 s

Vmix sz sz 2
= = = ~ H—
Vi, Pren 8.5 p,, 17

3) [NCERT-356]

y, =10 sin [3m+g] (i)

and y, = 5[sin 3nt ++/3 cos3nt]

:5X2|:%><Sin3ﬂt+§x0083ﬂ:tj|

=10 cosgsin?m:t + singcos nt}

=10 cosgsin?mt + singcos nt}

=10 sin(?mt+%ﬂ

(- sin (A +B) = sin Acos B + cos A sin B)

Comparing equation (i) and (ii), we get ratio of
amplitude 1: 1.

(1) [NCERT-84]
0,-06.=0,—0,=0,=6,
@ [NCERT-171]

80 m/s

@%zomls v,

1kg 2kg

vl

Momentum is conserved in horizontal & vertical
directions

3x20=2v, = v,=30m/s

0=1x80—-2v, = v,=40m/s

Hence net velocity of B, V = /35 | 40? = 50 m/s

19. (4) [NCERT-314]

Vo, Po, + Vi, Py,

Rrsor 1 T = Prix = Vo, + Ve,

V(l:’o2 +|3H2) _ Po, TPy,
2V 8

[Since Vo, =V, =V]

+16
:u:3_5% —

2 ¥

Vmix sz sz 2

:> = = et we
Vi, P 8.5py, V17

20. (3)
y, =10 sin (3nt+%} (i)

[NCERT-356]

3 y, =5[sin 31rt+J§cosS1rt]

=5x 2{% x sin3nt + gx cos?mt}

=10 cos%sinSnt + singcos,nt}

=10 cos%sinht + sin%cosnt}

il )

(- sin (A+B) = sin A cos B + cos A sin B)

T (i) 3T (i) FT TN FA W1 1.

=10

21. (1)
0,-0,=0,—0,=0_=0
[NCERT-171]

[NCERT-84]

22. (2)

80 m/s
B
@QZOmfs v,
1 ki
9 2kg
v!

FeaneR 9 &fae fear ¥ w3 9 @i
3x20=2v, = v, =30 m/s
0=1x80—2v, = v, =40 m/s

I AT ATB, V=

30° + 40° =90 m/s



23.

24.

25.

26.

27.

28.

29.

30.

31.

(3) [NCERT-77]
Oblique projectiel is an example of two dimensional
motion and motion under gravity.

4) [NCERT-54]
Constant acceleration means speed versus time

graph should be straight line so fourth option is
correct .

(2) [NCERT-79]
Since the motion is non uniform hence the total

. N . — 2 2
acceleration acting on the particle a__, = ,/a® +a%

900 = 2.69 m/s?
500 i

[NCERT-137]
A
TLh TS =h
m Surface
lmg
Wapp = +ve
Wgravily Sl=Ve!
(1) [NCERT-125]
grb 9.8 x150x1. 2 S—
<o TN 2x2 ™
[NCERT-164]
MR2 =mr2 +2/5 mR2
r=406R
(1) [NCERT-192]
. ; 2h ; 2h '
991" g, )0 979" g )=979,
(1) [NCERT-128]
F.=0=[a=0]
System may  System may
be in rest be moving with
v=0 constant 'v'
(2) [NCERT-103]

Since system is in equilibrium so making F.B.D. of
block A
TN

_>T1
//f7/ S
100 N

T, =f
T,=0.25%100 =T, =25N

23.

24.

25.

26.

27.

28.

20.

30.

31.

(3) [NCERT-77]
ey 7y (o) fefediia 9 g iy &1 Sereeor
Bl
(4) [NCERT-54]
Tfe w1 e B a1 A9 9 9 & 4 U 9
g B
(2) [NCERT-79]
qf 98 9 g9 T 2
gﬂﬁﬂ'{ ko oMa,,, = a + aT
900 ,
500 = 2.69 m/s
[NCERT-137]

A
';J_ihTS =h
m Surface
lmg

=9 99 8N R 1 S Mo 9T e SR R
TT T HOMHF BT

Q) [NCERT-125]
grb 9.8x150x12 _ |
“Voh Ty axz O Ams
[NCERT-164]
MR2 =mr? +2/5 mR?
r=,0.6R
(1) [NCERT-192]
2h 2h
7x0 (1) om0 7] =0 =0
(1) [NCERT-128]
I R R oo 3 2 o 98 fer e awar 8,
Fga 31 ¥ o g 2
) [NCERT-103]
i M argaen (9999) ¥ 21
TN
_)T1
/é// 777
100 N

T, &f
T,=0.25x100 =T, =25N



32. () [NCERT-360] | 32. (1) [NCERT-360)
ssinn—x =1 sin~ = 1
10 10
x=10 r‘|+1 x=10 n+1
2 2
n=0,1,23, .......... n=0,1,2 3, ...........
x=5,15 25, ............. x =515 25, .............
33. (3) [NCERT-364] 33. (3) [NCERT-364]
When fixed ends behave as nods, then distance S IR T B G TG ARG 1 B I
between two nodes = 10 cm = 0.1 meter a9 & AT H 9T #W g = 10 cm = 0.1 R
e 0.1 #ex
= 2~0.1 meter = -
= A =0.2 meter — A =029
- velocity of the wave, u = ni .. T F G, u=nh
=100 x0.2 = 20 meter / sec =100 x0.2 = 20 meter / sec
34. (2) [NCERT-307] 34. () [NCERT-307]
Speed of sound in gas is | T FT A
YRT YRT
v= 1,_M V= 1/ M
Vo, MHZ_ 2 1 Vo, MHZ_ 2 1
Vi, M, V32 a4 Vi, M, V32 4
35. (1) [NCERT-248] | 35. (1) [NCERT-248]
A oot oo AT
Poisson's ratio, = (AL/L) oisson's 3, (AL/L)
org:—1><10’3 £2—1><10’3
r r
Volume V = nr?L 9T V =nrill
ﬂ:A(nrzL):A_L+& ﬂiA(r:rzL)AA_LJrg
vV omrl L r V. omidl L or
AV AV
. —=0 . —=0
A vV
% increase in volume I ¥ % Feraa
:%x‘IOO:Ox‘lOO:O% :ﬂxmozoxmozo%
V
SECTION-A SECTION-A
36. @) [NCERT-340] 36. (4) [NCERT-340]
2
% 1 1 a
1 1 2 @ _ o gt ——
K=5m(02(az—y2)=5m(02 (a —?J K—2 mmz(az—yz)—zmmz( sz
1 1 a U 1 92 1 2(i)
= Dl s =, Mty = _mo 2
U 5 mao* y 5 ma e 2 2 m
k
k — =mZ-1
— =m2—-1 U
U




37. (3 [NCERT-177] 37. (3) [NCERT-177]
NCERT Theory. NCERT Theory.
38. (1) [NCERT-23] 38. (1) [NCERT-23]
o1 o 1
Energy density = ESOE Fell T = ESOE
[MET ™) MET?]
S [£']
= [ML-'T-2). = [ML-1T-2).
39. (3) [NCERT-127] 39. (3) [NCERT-127]
From conservation of momentum T G
2x 10 +5x3= (24 5)v 2x10+5x3=(2+5)v
v=5m/s v=5m/s
It is clear from above equation both block will move . N3
with common velocity after collision. 2 wy
Now applying conservation of M.E. A FS & A
1 1 1 1
lxzx(m)2 +1><5><(3)2 Ly +3><z><(5)2 Zx2x(10f +=x5x(3) ==Kx* +=x2x(5)°
2 2 2 2 2 2 2 2
1
+ 25 (sp +-x5x(s)’
2 2
245 = Kx2 + 175 245 = Kx? + 175
Kx2 = 70 Kx? =70
1120 x2=70 11202 =70
x2=l:>x2=00625 X = = x2=0.0625
1120 ' 1120 '
x=025m x=025m
40. (4) [NCERT-167] 40. (4) [NCERT-167]
dw dw
a=— o=
v v
w = constant. W=
41. (3) [NCERT-172] 41. (3) [NCERT-172]
1% 1A
I-TxE=0 = a 36 =0 T—TxEF=0 = a 36 =0
2 -6 -12 T 2 -6 -12

i (—36+36)— j (-12a—12) +k (-6a—6)=0

= —6a-6=0= a=-1

i (-36+36)— j (—12a—12) + k (-6a—6) =0

— —ba—-6=0 = a=-1



42.

43.

44,

45.

46.

47.

1)

1, . 401,
@ = mv
2 100 2

— =~
R? 10

|=Z=mR?

3)

a, b, c, d are correct.

@

6.5
(1)
_ AP _ 100x10°
AV " 0.01x107
v

=10" dyne/cmz.

3)

P =pgh
=27 x 108
=
v
=1.2x 102
(2)
mg nRIxgxp
F=19_I""X9%P
A R

10°=1x10x 3 x x 10°

10°

10° 10
=—X

T 3x10° 3
3.4 x 10" m.

10
U, = —cos 45°
B \/5
—Ex 1 =5m/s

[NCERT-175]

[NCERT-368]

[NCERT-367]

10%cm

[NCERT-251]

=10"N/m?

[NCERT-239]

[NCERT-252)

[NCERT-148]

42.

43.

44.

45.

46.

47.

(1

3)

2

o)

3)

@)

[NCERT-175]
1 o — 40 1mv2
2 100 2
|ﬁ,i 2
R? 10

|==mR?

[NCERT-368]
a, b, c, d & |e
[NCERT-367]
6,5
[NCERT-251]

_ AP 100x10°
AV 0.01x107
Vv

=10" dynefcmz.

=10"N/m?

[NCERT-239]
P =pgh
=27 x 106

P

=1.2 %102,

B=

[NCERT-252]

_m_nRzlxgxp
A qR?
10°=1x10 x 3 x x 10°

F

10° 10

8
10 = =—x10%*m

3x10° 3
3.4 x10" m.

[NCERT-148]




49. (1) [NCERT265] |49. (1) [NCERT 265]
Work done is given as Rormar s 2
W=Tx AA W=Tx AA
W =T x 8 7R?2 —-(1) W =T x 8 nR2 ~-(1)
4 4
As V=§na3 As V:E'rcR3
1/3 1/3
{2 {2
4n 47
Put this value in eq. -1 FHFOT () § A9 W | —(1)
3v ) 2/3
W=Tx8nx() W_TXSRX(ﬁj
4an 4n
or W o V23 or W g V23
given V, = 2V given V, =2V
2/3 2/3
L W_( V.
So w, Ly, So w, v,
W ik W v 3
(o) o)
W2 = 223\ W2 = 223\
= W,=4"w = W,=4BW
50. (4) [NCERT-234] | 50. (4) [NCERT-234]
Y, tan6, tan60 /3 Y, _tan0, tan60 3 _3
Y, tan@, tan30 1//3 Y, tang, tan30 1/43
= ¥, =3 = Y, =3,




CHEMISTRY

SECTION-A SECTION-A

51. 4) [NCERT86] | 51. (4) [NCERT 86]
The 3™ ionization energy is maximum for Mg. Mg &1 % ST Foif SHfereReT B 2

2. @) [INCERT34] | 55 (3 [NCERT 84]
For isoelectronic species ionic radii « % Lil W et ¥

53. (4) [NCERT 117] S Forar o ﬁ
The.re rT\ust bg three lone plailr of electrqn occupie.s 53. (4) [NCERT 117]
equitorial positon and remaining two axial bond will
be identical. THFIRIRAS T # soegH @ 99 A9 TR B

54. (1) [NCERT 145] T S AT 3 Sfefer For T B
At these conditions the gas molecules are very =4 (1) [NGERT 1431
far from one another. o ffoa % Aw = MW@%E@HQ{@%%,

Hence conditions of ideality will prevail. ke St 1 el it

55. (2) [NCERT 258] 39 &) [NCERT 258]

56. (2) [NCERT 14] 56. (2) [NCERT 14]
C.Hy(g)+ 50, (9)——3C0,(9)+ 4H,0(0) Cafls (a1 50 (0)——3CO, (g} 4H,0(0)

57. (2 [NCERT 51] 57. (2) [NCERT 51]
An orbital can have maximum two electron. O i ¥ e A g@@”:[ & T 2

58. (3) [NCERT 268] | 58 ©3) [NCERT 268]
KMnO, FeC,0, KMnO, FeC,0O,

n, x mole = n, x mole n, et = n,x#e

59. (4) [NCERT 144] | 59. (4) [NCERT 144]
KE o< T (Kelvin scale) KE oc T (@fca &he)

60. (2) [NCERT 347] 80 @ [NGERT 347
Ring activating effect of group will decrease & ¥ 01 fhd 3 a1 T § Fralieer S
electrophilicity of carbonyl group. Eﬁﬂaﬁ%ﬁﬁ 9 & FRA

61. (2) [NCERT 378] | 61. (2) [NCERT 378]
It is due to formation of more stable carbocation g8 TI] & €9 ¥ 3T R FEEEd & 169
as intermediate. 5 R 2

62. (2) [Mod.CBSE, NC 377] 62. (2) [Mod. CBSE, NC 377]

CH, CH,
CH3—¢—CH=CH2 t—?»CHrA:—CH _CH,
CH, H,

Rearrangement of —CH, EE
—— CH,—C—CH,-CH,

H Ch,

CH, CH,
;| H.0 (I; +
CH3—(E| —CH=CH, ——>CH,~ | — CH—-CH,

CH, CH,
Rearrangement of —CH, EE
CH- I CH,—CH,
CH CIIH



63.

65.

66.

67.
68.
69.

70.

71.

72.

3)

L)

2

M

4)
3)

1

@

1

[NCERT 387]
Musturd gas — CH,=CH,+5,Cl,
Westron — CH=CH+CI,
Vinyl acetylene - CH=CH+Cu,Cl/NH CI
Lewsite — CH=CH+AsCl,

[NCERT 121]
COo*—> 3.5
0, —>25
O, —>15
N,—3

[NCERT 221]

K = (AgCl) = [Ag’] [CI]

Let the solubility of AgCl in 2 M NaCl be s mol L~
Kse = (8) (CF)

1.8x100=gx2

1.8x107"
§=—" -
2

= 9x10-"" M
[Mod. CBSE]

Since heat of neutralization of strong acid and strong
base is equal to the formation of water

i.e., NaOH + HCl — NaCl + H,0 + g
where q = heat of neutralization
Na* + OH- + H* + CI- — NaCl + H,0 + q
H*+ OH-— H,0 +q
[CBSE 1990]
[NCERT 288, 289]

[NCERT 116]
The d-orbital involved in sp*d hybridisation is d .

[Mod. DPMT]

In a reversible isothermal process, the change in
internal energy is zero.

[NCERT 340]

CHE—CHZ—CHZ—g—OH and CHS—CH—(|3|—OH are
&H,
Chain isomers.
[NCERT 365]
CompondAis CH,
Compond B is HCN

63.

64.

65.

66.

67.
68.

69.

70.

71.

72.

3) [NCERT 387]
s i — CH,=CH_+SCl,
IEH — CH=CH+Cl,
famrger oféersfe  —  CH= CH+Cu,CI/NH,CI
ferararse — CH=CH+AsCI,
(1) [NCERT 121]
CO*— 35
0, >25
0,15
N,—3
2) [NCERT 221]
Ksp = (AgCI) = [Ag] [CIF]
T 2 M NaClF AgClaR f3aigar s mol L2
K = (s) (CI)
1.8x10 "0 =5 x2
s:w =9x10" M
(1) [Mod. CBSE]
Afeh J9e 3 S T SR & ISR Sl ST
S & T P TS B 2
i.e., NaOH + HCI — NaCl + H,0 + q
BT q = JEREIFFT FS
= Na*+OH-+ H* + CI — NaCl + H,O +q
= H*+OH > H,0+q
(1) [CBSE 1990]
) [NCERT 288, 289]
3) [NCERT 116]
Sp’dWFOT ¥ d, , d-FEreh e 2|
(1) [Mod. DPMT]
JRAUI FATIE TR 9 SR Sel § RaaH
I B 2
2) [NCERT 340]
1 -
CH,~CH~CH,~C—-OH 3R CH,~CH-C—OH #f&eT
CH,
TR B |
(1) [NCERT 365]
Gifires A2 CH,
Gifire B& HCN



73.

74.

75.

76.

77.
78.

79.

80.

81.

82.

83.

84.

85.

(3) [NCERT 335]
CH,=CH-CH-C=CH
EH,
3-methyl pent-1-en-4-yne
4) [NCERT-281]
Temporary hardness can also be removed by
Clark’s process which involves the addition of
slaked lime [Ca(OH),]
Ca(HCO,), + Ca(OH), —» 2CaCO, + 2H,0
Itis essential to add only the calculated amount of
Ca(OH), because excess will cause artificial hard-
ness.
4) [NCERT-199]
HCIO, > HCIO, > HCIO, > HCIO
(Decreasing acidic character)
ClO, < CIO, < CIO, < CIO-
(Increasing basic strength)
(Conjugate base of strong acid is weak base)

(3) [AIIMS 2006]
Purest form of carbon is Fullerene

(1) [NCERT 354]

(2) [Mod. CBSE]

Ina S, reaction 1°>2°>3° >allyl > benzyl halides.
So, CH,CH,Br has the highest relative rate.

1) [NCERT 144]
value of a « intermoleculer force « 1/pressure
exerted

(2) [NCERT 170]
CH,+20,—CO,+2H,0

2 gm CH, liberates 2.5 kcal
_ 2.5
16 gm CH, liberates Y x16 = 20 kcal

(3) [NCERT 343/347)

Electromeric effect is temporary effect which only
play role on attack of reagent.

(4) [NCERT 400]
N, is not an air pollutant.

3) [NCERT 299]
Density of I|IA metal 1stly | upto Ca than 7.

) [NCERT-313]
2BF,+6NaH _450K B H_+6 NaF

(1) [CBSE 2004]

73.

74.

75.

76.

77.
78.

79.

80.

81.

82.

83.

84.

85.

(3) [NCERT 335]
CHZ:CH—CI)H—CECH
CH,
3R -129-4-315H
(4) [NCERT-281]

I ST Tl ¥ Fara: 1 s grr R e o
Hehe =, TSl I3 g3 T [Ca(OH),] &7 TaRT e
2l

Ca(HCO,), + Ca(OH), —» 2CaCO, + 2H,0

Ca(OH), 3 aReferT AT &1 & 397 i 8, RfR
ST AT HET FSRAT i FROT 0|
o) [NCERT-199]
HCIO, > HCIO, > HCIO, > HCIO

(T T Tl §3N )
ClO,- < ClO,” < CIO, < CIO-
(MIRFAT T dgdT 53 F)
(IeFeT 3FT T 91 &R goiel BIeT 21)
(3) [AIIMS 2006]
FE AT TETW §F FeAAT 2|
(1) [NCERT 354]
() [Mod. CBSE]

S, SiffeRar F 10>20>30 > uferet > Ioilet 2ellgs TERIT
CH,CH,Br &1 3eaaw Rafea w 21
(1) [NCERT 144]

a & A o« AR OMTF § o 1/ W

) [NCERT 170]
CH, +20,- CO,+2H,0
2gm CH, 2.5 kcal &1 I+ &l &

2.5
16 gm CH, —~x16 = 20 kcal %1 IeT HAT

3) [NCERT 343/347)
TAFCHIRE THIT ST T4 & o Fdel ST
T HCF R I 2

(4) [NCERT 400]
N, a1 Y39 78I 2|

3) [NCERT 299]
IA eI ST 9T Ca dd 9eal & 9% 916 98l 2|

7)) [NCERT-313]
2BF, + 6 NaH B,H, + 6 NaF

(1) [CBSE 2004]

450K
s



SECTION-B

SECTION-B

86. (1) [NCERT 316]
The common oxidation states exhibited by group
14 elements are +4 and +2, Carbon and Silicon
mostly show +4 oxidation state, Group 14 oxides
in higher oxidation states of elements are generally

more acidic than those in lower oxidation state.

87. (2 [NCERT 317, 318, 319]
In diamond each c-atom undergoes sp?®
hybridisation, In graphite each layer is composed
of planer hexagonal rings with sp? hybridized c-
atom, Fullerenes are made by heating of graphite
in an electric arc in presence of inert gases, Max.
percentage of carbon is present in anthracite
between diffrent form of coal.
88. (2 [NCERT-198]

PCI, = PCl, +Cl,

89. (3) [NCERT 15]

Mole fraction

Molality

Ksowte = 1000

solute

Molality +

solvent

1
Xso!ute i W
gt

18

18

= m =0.0177

90. (3) [NCERT 385)

Mg,C, —*°—CH, - C = CH—%_, C H,

91. (3) [NCERT 386)
Ais :CH~CH_-C=CH

B is : CHy-CH~C—CH,

86. (1) [NCERT 316]

B 14 70 5 TeliT AW SRRl e
+4 3R +2%, C 3 Si TR +4 I JFae
e 2, I & S i SaEn ¥ @ 14
HTFETEE SR TR T SRAReeT 3T ) e
¥ A T B B

87. (2) [NCERT 317, 318, 319]

ER ¥ TF AW sp® WERA BT B, IPrEe A
AT TR SpPHFRT CIIY] & G TR SFRIA
Y & 51 2 71 weae iRy A6 o Saffy A
T s % AwIgT I T X SR ST S | FET
#1 e ged IEEe 3§ Bl 2

88. (2) [NCERT-198]

PCl, = PCl, +Cl,

o
Kp = pw x P
oo
JP
89. (3) [NCERT 15]
AT TS
Molality
Xsoluie =
Molality + 100
solvent
1
Xeoute = 7000
1+ —
18
18
= 1018 =0.0177
90. (3) [NCERT 385]

Mg,C, —*°—CH, - C = CH— %", C H,

91. (3) [NCERT 386]
Ais:CH-CH,-C=CH

Bis : CH~CH,—C—CH,



92.

93.

94.

95.

96.

97.

98.

@

(4)

(2

(3)

@

(4)

@)

Metal

[NCERT 337)
OH

A

2-ethenyl cyclopentanol

P. xP® 04x05x05x0.5
~ 02x0.3x0.3

K. —
P F’AxPé

0.05 _ 07
0.018

[Mod. CBSE]

~h  663x10™
" mv 10x10° x10

=6.63x10"m

[NCERT 344]
+| effect decrease acidic strength while - effect
group increase acidic strength of carboxylic acid.

[NCERT 295]
Super oxides are paramagnetic in nature
The basic strength of hydroxide increases down
the group.

[CBSE 1998]

4NH, (g)+50, (g) —> 4NO(g)+ 6H,0(1)

4 mol Smol 4 mol 6 mol

Oxygen is limiting agent So all the oxygen will be
comsumed.

nH2O _ noz NNO noz
6 5 4 5

NH,0 4 No _ 4
6 5 4 5

NH,0 = 4.8 nNo = 3.2

[Mod. CBSE 2002]
% of metal M = 70.00
. % of oxygen = 100 — 70 = 30.00

Element % mole ratio  Least Whole No.
ratio ratio
70 1.25
70.00 —=125 ——=1
56 1.25

1.875

30
0 30.00 —=1.875 ——=1.5 3
e 16 1.25

Hence, molecular formula = M, 0,

92,

93.

94.

95.

96.

97.

98.

@ [NCERT 337]
OH

A

2-ofafer g e
4

K _PoxPp® _0.4x0.5x05x05
P By « P2 0.2x0.3x0.3

0.05

) [Mod. CBSE]

h 6.63 x107%

mv 10x10° x10

=6.63x10m

(3) [NCERT 344]
+ 1T 31T AT T FH FOAT € EiE - THE
FIRITFaIeTd 3 &1 P T 1 STl 2|

(2) [NCERT 295]
IR 1SS 1 IH ST Bl 2 | BEeTEe
F R AT 998 % IR 4 A I W g 2

(4) [CBSE 1998]

4NH, (g)+ 50, (g) — 4NO(g)+ 6H,0(1)

4 mol 5mol 4 mol 6 mol

I i SfvEE 2 off T8 TE ¥ @ B
SR |

NH,0

- noz NNO - noz
6 5 4 5

"o _4 NO
6 5 4
NH,0=4.8
) [Mod. CBSE 2002]
erq T gfaerd M = 70.00
. 3ot =T 9 = 100 - 70 = 30.00
T % WAFAAIE WA qof &
& ERICH I
1.25
125 0 2

nNO = 3.2

70
70.00 — =125
! 56

30 1.875
e 30.00 —=1.875 ——=
16 1.25

15 3

HAIET = M0,



99. (1) [NCERT-68] |
Energy oc (n+1)
If value of (n+l) is same
Energy «n

100. (4) [CBSE-1990]
CaCoO, —> CaO + CO,
100 kg 56 kg

Pure limestone in 20 kg = 80% of 20 = 16 kg
100 kg CaCO, give CaO =56 kg

56
16 kg CaCO, give CaO = Toh x16=28.96kg

=8.96x10%gm

9 ) [NCERTE3

Fl oc (n+1)
R (n+) F) g T 2|
FWl «cn
100. (4) [CBSE-1990]
CaCO, — Ca0 + CO,
100 kg 56 kg

20 kg el % & AT IO 20 T 80% = 16 kg
100 kg CaCO, = 56 fFm Ca0

56
16 kg CaCO, = mx 16 =8.96kg

= 8.96x10° gm




BIOLOGY

SECTION-A—-[BOTANY]

SECTION-A—-[BOTANY]

101. (4)

102. (4)

103. (2)

104. (1)

105. (1)

106. (4)

107. (4)

108. (2)

109. (2)

110. (2)

11. (3)

[NCERT--22]

Yeast are used for production of bread and beer.
Penicillium are source of antibiotics.

Yeast are exceptionally unicellular fungi.

Mycorrhiza are symbiotic association between
fungi and roots of higher plants.
[NC-1-32, 33, 34]

Oogamous type of sexual reproduction are occurs
in Chlorophycaea, Phaeophyceae and
Rhodophyceae .

[NCERT--126]

Cytoplasm is the main Arena of cellular activities
in both the plant and animal cells.

[NCERT-1-126,129]
80S Ribosome = Only in Eukaryotes

705 Ribosome = Both prokaryotes and Eukary-
otes

705 Ribosome = Mitochondria, chloroplasts
[NCERT--165]

The best stage to view structure, size and to count
the number of chromosomes is Metaphase

[NCERT-1-134-136]

Both (A) and (R) are true and (R) is the correct
explanation of (A)

[NCERT-I-38, 39]
Both (A) and (R) are true and (R) is the correct
explanation of (A)
[NCERT-1-168, 169]
X-shaped structures
[NCERT-I-236, 237]

Chiasmata -

Tripalmitin - 0.7
[NCERT-H4]
True regeneration — a fragmented organism rege
nerate the lost part of body and become a new
individual occurs in Flat worm, Plannatria.
[NCERT-I-20]

Some are pathogens causing damage to human
beings, crops, farm animals and pets. Cholera,
typhoid, tetanus, citrus canker are well known
diseases caused by different bacteria.

101. (4) [NCERT--22]
- A - 9 3R IR
- ffafemw - MR
- g ~  UFEHEET FaE
- g = H@W Hdh
102. (4) [NC-1-32, 33, 34]
Tt gR &1 A 9 9T S -
. TR
- R
S LD
103. (2) [NCERT--126]
il SR SN BT H il fhar e &6 g
VT FiEweT B
104. (1) [NCERT--126,129]
80S UaEM = ad JHRAICH
70S TgEEM =g RalcE 3K ARRaicE
70S AN = AEIFI=5aT, sRaeas
105. (1) [NCERTA-165]
weArEe ¥ TUEA H AT, AR AR g A
eI A B |
106. (4) [NCERT-I-134-136]
(A) 3R (R) I &&T 3K (R)wer =rean & (A)
107. (4) [NCERT-I-38, 39]
(A) 3R (R) 2 Fr 3R (R) W&t =re=r 2 (A)
108. (2) [NCERT-I-168, 169]
FITHCT - X-3E F g
109. (2) [NCERT-1-236, 237]
TR - 0.7
110. (2) [NCERT-14]
R Y Fer 71 9 RAReH 3R sk
T |
1. (3) [NCERT--20]
WETE DA JFRIRGS TG 2



112.

113.

(4)

4

114. (4)

115.

116.

117.

118.

119.

0

o)

3)

1

3)

[NCERT-I-22]
The cell walls of fungi are non cellulosic, composed
of chitin and polysaccharides.
[NCERT-1-248, 249]
2, 4-D is a type of artificial auxin.

[NCERT -1209]

You have studied the structure of chloroplast in
Chapter 8. Within the chloroplast there is
membranous system consisting of grana, the
stroma lamellae, and the matrix stroma. There is a
clear division of labour within the chloroplast. The
membrane system is responsible for trapping the
light energy and also for the synthesis of ATP and
NADPH. In stroma, enzymatic reactions
synthesise sugar, which in turn forms starch. The
former set of reactions, since they are directly light
driven are called light reactions (photochemical
reactions). The latter are not directly light driven
but are dependent on the products of light reactions
(ATP and NADPH). Hence, to distinguish the latter
they are called, by convention, as dark reactions
(carbon reactions). However, this should not be
construed to mean that they occur in darkness or
that they are not light-dependent

[NCERT-1212]
The correct sequence of flow of electrons in the
light reaction is PSII, plastoquinone, cyto-
chromes, PSI, ferredoxin
[NCERT-1236]
The respiratory quotient depends upon the type of
respiratory substrate used during respiration
[NCERT-I-32-39]
Unlike bryophytes and pteridophytes, in
gymnosperms the male and the female
gametophytes do not have an independent free-
living existence .
In algae and Bryophyte sporophyte do not have
free living existence.
[NCERT--94]
The mesophyll is not differentiated into palisade
and spongy parenchyma in monocot leaf.
[NCERT--204]
In addition along with the transpiration stream the
nodules of some plants export the fixed nitrogen
as Ureides. These compound, also have a
particularly high nitrogen to carbon ratio.

112. (4) [NCERT-1-22]

FhE & FIRAHT SR A AeTeiors € T FEeT 3R
iferdhags & S5 B

113. (4) [NCERT-1-248, 249]

2, 4-D U YR T i &

114. (4) [NCERT-1209]

TS TER a7 3 WehTe SF9NNYT, Sl & oAl
3R SIS T Iatord BT U9 ATP 3k NADPH
T T G BT 2

115. (1) [NCERT-1212]

TR SATRaT  Solagi & YAIE ol 9El W ©
PS I, SRS, FIECh, PSI, hdsiied

[NCERT-1 236]
98 VT R T & 90 & SR STERT i o
et FaE ATk T

116. (1)

117. (3) [NCERT-1-32-39]

X 3 H1eT AACIEIST 1 QOT: o g =147 g

e 8 g 3R e A

rent - g, agea, Riga, Rrgan

At 3R TR § WSS F O o oia"

E 9 ST 2
118. (1) [NCERT-1-94]
g i uferll ¥ Tl e A8 B B

[NCERT--204]

HS T FY AET aoiicdoi- a8 & a9 & ay
fooR AggioM o gReg & ¥ 9 IR B
TRl § BT 8 I ARG F AT FE FI
e

119. (3)



120.(2)

121. (1)

122. (4)

123. (3)

124. (3)

125. (1)

[NCERT-163]

S phase —Synthetic phase, DNA synthesis
M phase —Most dramatic phase
G,—-Gap1

[NC-1-135, 136]
Mature erythrocytes contain no any cell or-
ganelles like mitochondria, nucleus hence DNA
are not present.
Seive tube cells are ennucleated cell but other
cell organelles are present like mitochondria, chlo-
roplast. Mitochondria and chloroplast have it's own

DNA besides nucleus.

[NCERT-1-216-219]

OAA compound formed in a pathway called hatch

and slack pathway

[NCERTH, 230-233]
In oxidative phosphorylation ATP formation occurs

[NCERT--102]

On the basis of the mode of pouring of their secre-
tions, glands are divided into two categories
namely exocrine and endocrine glands. Exocrine
glands secrete mucus, saliva, earwax, oil, milk,
digestive enzymes and other cell products. These
products are released through ducts or tubes. In

contrast endocrine glands do not have ducts.

[NCERT--153]
High energy bond in ADP - 1

High energy bond in ATP - 2

120.(2)

121.

122.

123.

124.

125.

[NCERTA-163]

S JTaET —FI9IT 19T, DNA G5490T
M YT —gaiteeR Aieaid gae
G~ 1

(1) [NC--135, 136]

TRy ZAUETET § FRIET IR B 21 3R

DNA T =78 9 S 2

— b9 Tgd A § dw T8 gy 7 21 Al
AZCIFHIISAT, T YT oIl 2 |

—  WECIHIvEAT, Faa ¥ ek DNA YR ST 21

@) [NCERT--216-219]
OAATIfTEF 29 U Wik qrd  o9all &
(3) [NCERT-], 230-233]

TSR wRRReEH ArsTieivgar § ATP & fsfor
1 gfokar 21

3) [NCERT4-102]

Frard afeE) F it R iR e Bk
Bl

R Ueollgd dfe: 9rdt 9997 8
1) [NCERT--153]

ADP ¥ 3= ol &7 - 1

ATP ¥ I Foll &= - 2



126.

127.

128.

129.

130.

131.

132.

133.

4)

4)

4)

1

3)

3)

@

(3)

[NCERT--52]

Given diagram is of female ascaris which is the
members of aschelminthes.

Aschelminthes = Pseudocoelomate, Triploblastic,
Unisexual

[NC(I)-272]
Vital Capacity (VC): The maximum volume of aira
person can breathe in after a forced expiration. This
includes ERV, TV and IRV or the maximum volume
of air a person can breathe out after a forced
inspiration.

[NC(I)-276]
Long exposure can give rise to inflammation leading
to fibrosis (proliferation of fibrous tissues) and thus
causing serious lung damage

[NC-1-292]

Renal corpuscles Glomerulus +

Bowman capsules

Glomerulus +
Bowman capsules

Malpighian body

[NC--316]

The autonomic nervous system is further classified
into sympathetic and parasympathetic neural
system.

[NCERT--298]

The presence of ketone bodies in urine is the
indication of diabetes mellitus

[NCERT--145]

Cholesterol

Cholesterol is a type of lipids.
[NCERT-I-145]

The number of glycerol molecule is present in mono,
Di and Triglycerides respectively 1, 1, 1.

126. (4) [NCERT-I-52]

fear T o weT i = € S O wEeae
F1 92 &1

TehefoR=itel = Fefed, PR, garfe

127. (4) [NC(1)-272]
B FY IF & = IRV + ERV + TV
128. (4) [NC(1)-276]

JAN ¥ e & HFT JE P RO HoRel
F TTo, AT, U9 DS I JRa Tgae 2 |

129. (1) [NC-1-292]
» I FOEH = TAReaE +
EIEE L
- i = TARead +
(R A L ol

130. (3) [NC-1-316]

W qe O T SR T T SEET 3R
TAEAT qiTHT - &

131. (3) [NCERT--298]

FIH FE A AT A JuFeRl g9F 21 AFE &

132. (2) [NCERT-1-145]

HO

e T oy hieteger 2 i fo oo germ i foifds )
133. (3) [NCERTA-145]

AT, BTE 3R gERAEass AU ¥ a6 s S g
Tao] & e et Vi 9 T 99 G 2|



134. (4)

135. (1)

[NCERT-I-320,321]

Forebrain

Spinal cord

Figure 21.4 Diagram showing sagital section of the human brain

Another very important part of the brain called hy-
pothalamus lies at the base of the thalamus. The
hypothalamus contains a number of centres which
control body temperature, urge for eating and drink-

ing.

Corpus callosum is unique character of mamma-
lian brain.

In pons pneumotaxic centre present
[NCERT-I-306, 307]

The sliding filament theory which states that
contraction of a muscle fibre takes place by the
sliding of thin filament over the thick filament.

Actin and myosin filaments do not shorten.

SECTION-B - [BOTANY]

136. (4)

137. (1)

[NCERT-I-333 to 339]

All given hormones steroidal.

Epinephrine is amino-acid derivatives

TCT —peptide hormones

[NCERT--336,337]

Cortisol is a hyperglycemic hormone. Epinephrine

is secreted from adrenal medulla.

134. (4)

135. (1)

[NCERT--320,321]

fag 21.4 e e s el (defER) W=

BRUHE IR & A F R, |@H @m o #r
=0T 3 9 & =0T Y Hg=i & B

FIE Fegq TURA & afass 7 afgdig weor
2

o ¥ =i fes qE R

[NCERT-I-306, 307]

wiiaq e 1 W UFR IS TE EE o

e 2

e 3 AN A S 78 B I s U o
T G 2

SECTION-B - [BOTANY]

136. (4)

137. (1)

[NCERT-1-333 to 339]

wHEE B - HcEw, TR,
grereedE
e oftre - TSR, ARTEE
eI~ EMHA
TCT ~  U%IEE BM
[NCERT-I-336,337]

RIS TE ASeT o B €|

FIETE U SRR T@Eadis e@q 2l



138. (4) [NCERTH-280] | 435 (4) [NCERT--280]
O blood group is universal donor .
O & 998 9 A 2 |
139. (4) [NCERT--279] 7
Lymphocyte are 20-25% of total WBCs. — AB T 99E 9@ UE 2
140. (3) [NCERT-1-285, Mod. NEET 2019] 139. (4) [NCERT-I-279]
Our heart normally beats on average 72 beats m FoT WBCs & 20-25% 21T 21
min-". h
140. (3) [NCERT-1-285, Mod. NEET 2019]
_ Cardiac output )
Stroke volume = T TN 539 AR e 72 Wed /e W d
T FEl 2
7.2 x1000 2T TN
= T s EEIERS POE] =T e
72 72
= 100m PNl
72
141. (4) [NCERT--263]
= 100 ml
Lactose ﬂ) galactose + glUCOSG 141. (4) [NCERT_I_263]
Maltose —Matsse _, glucose + glucose ofercle] _ Lactase , Jheiercied '”ajila
::n—@'a Maltase qaa.ﬁ‘a' ]aa.ﬁa’
Sucrose __Swmse | Glucose + fructose “ > R B S
Yohl] __Suemse , TeTeRIol + Wrerclol
142. (3) [NCERT-I-310, 311]
Patella - Hind limb bone 142. (3) [NCERT-|-310, 311]
143. (3) [NCERT--114,115] erec - yEdE 3Ry
Spermatheca - Female cockroach 46 [NGERT114:113]
IHRURTH - AGT AT
144. (1) [NC-I-326]
144. (1) [NC-1-326]
Perilymph, endolymph, perilymph
145. (4) [NCERT-I-290, 291]
. ) ) ) ) 145. (4) [NCERT-I-290, 291]
Uricotelic = Reptiles, Birds, land snails
146. (3) [NCERT--153] g 3t Il - |G, e, Ty =
Identify, whether the given conditions are anabolic 146. (3) [NCERT--153]
or catabolic
L I e I - gl
Glucose — Lactic acid = Catabolic
Amino acids — Proteins = Anabolic : - )
Catabolic = complex molecule — simple FIE) = SIie A — Wl A
molecule W - w S = s
Anabolic = simple molecule —» complex molecule




147. @)

148. (1)

149. (4)

150. (2)

[NCERT-1-127,128, Mod. NEET 2015]

In addition to the genomic DNA (the single
chromosome/circular DNA), many bacteria have
small circular DNA outside the genomic DNA.
These smaller DNA are called plasmids. The
plasmid DNA confers certain unique phenotypic
characters to such bacteria. One such character
is resistance to antibiotics. In higher classes you
will learn that this plasmid DNA is used to monitor
bacterial transformation with foreign DNA.

Membrane bound organelles are absent in
prokaryotes

[NCERTA-167]

Meiosis involves two sequential cycles of nuclear
and cell division called meiosis | and meiosis Il but
only a single cycle of DNA replication.

[NCERT-1-73-81]
Solanaceae, Liliaceae, Fabaceae = ovary superior
[NCERT-I-133-137]

a. mitochondria

b. chloroplasts.

Oxidative phosphorylation = Mitochondria

Photophosphorylation = Chloroplast.

SECTION-A-[ZOOLOGY]

151. (1)

152. (1)

153. (2)

154. (3)

[NCERT-1-218, 219]

In bundle sheath cells grana are absent so light
reaction are not takes place.

Light reaction is takes place in mesophyll cells.
[NCERT-I1-228, 229, 230, 231, 232]

In aerobic respiration complete oxidation of glu-
cose into CO, and H,O are takes place many step
of reaction sequentaly.

Glycolysis — Oxidative decarboxylation — TCA
cycle or Krebs cycle —» ETS

[NCERT--245]

Formation of meristems interfascicular cambium
and cork cambium from fully differentiated
parenchyma cells are example of Dedifferentiation

[NCERT--87, 88]

Phloem parenchyma, companion cell seive tube
elements - living

Phloem fiber is dead due to lose their protoplasm.
Xylem parenchyma — Living

Tracheids, vessels, fiber — Non living or dead

147.

148.

(4)

(1)

149. (4)

150.

@

[NCERT-1-127,128, Mod. NEET 2015]

fareell uita i SrenRaifes fEIeT &1 weror &
Eq

[NCERT-167]

s fave ¥ Sieee feaee & ue o aied B
?

[NCERT-1-73-81]
e, e, headl = Fedad) sy
[NCERT--133-137]
a. AgerFIvgAl
b. FARIEE
HIRISET FIRERISAI = AgCIhvgan
THITHEREAT = FARITES

SECTION-A-[ZOOLOGY]

151.

152.

153.

154.

(1

(1)

2

3)

[NCERT-I-218, 219]

SANY FIFRIET ¥ U7 S I AR 2 1 g6l g

TR T W 1E B 2

geprer ffeRar ToiHedieae FIfas & SR 2
[NCERT-1-228, 229, 230, 231, 232]

W?ﬁwﬁmwﬁﬁﬁﬂmﬁ &1 9E

]

TeEaiIad — s Srrieiieem - &9 @R
— 3 FH B

[NCERT--245]
favsdiae @ fAeior soqerE aifee Sfeaw v

Tl T 1 QUi e e FifEr &
BT Fea & e

[NCERT-1-87, 88]
— S TR
AFACH = FACH ]
SEe TAHEA - S
2ferew, 39w, Sgem 9 - FeT srEr 9



155. (4) [NCERTI-187] | 155. (d) [NCERTH-187]
The most valid and recent explanation for stomatal TR T 3R e geieR 3 3 BT &
movement is Potassium influx and efflux. &1 SR ¥ 21 W 9o & e

156. (2) [NEERTA32] 156. (2) [NCERT--32]

In chlorophyceae most of the members have one < .

or more storage bodies called pyrenoids located in tngﬂ:ng‘s' Mo o T e 70 3

the chloroplasts. Pyrenoids contain protein besides | 157. (2) [NCERT-I1-163]
starch. : X ¥ ;

157. (2) [NCERT--163] ™ i % ;:aﬁa o

' - TFIREs ¥ drowor B B
In Animal cells during S phase the centriole dupli-
cates in the cytoplasm. 138. (2) [NCERTH-135]

158. (2) [NCERT--135] T qrT S & i 9eT iRl S G-y
Plastids are present in all plant cells and #
euglenoids. 159. (3) [NCERT-I-51-55]

153:43) [NCERT-I-51-55] e, AT FahEe U S 2
Subphyla Urochordata and Cephalochordata are W@Eﬁ e '
often referred to as protochordates and are 3 Lo Tﬁﬁ w il
exclusively marine 160. (4) [NCERT-I-101]
Member of phylum echinodermata and ctenophora TFRTFR ITFA - FEEE 3R ST & R
all are marine.

160. (4) [NCERT--101]

Columnar epithelium - lining of stomach and 161. 4) [NCERT-FZ74]
Infestiis ek SRR 1 Y] SAISH & 4 39 o ST 8

161. (4) [NCERT-I-274]

A molecule of haemoglobin carries 4 molecules of | 4, @) [NCERT-1-275]
oxygen.

162. (4) [NCERT--275) U W 994 89 & o 7 Rew A< & e T
Receptors associated with aortic arch and carotid ¥ 21 2, 9 Sl F9d CO, 3R H* & 9iy &
artery also can recognise changes in CO, and H* 2
concentration and send necessary signals to the
rhythm centre for remedial actions. The role of | 163. (1) [NCERT--297]
oxygen in the regulation of respiratory rhythm is i 2 R .
quite insignificant. :rg'{H% ﬁﬁa:T E;a‘i;rzllﬁag e ¥ e

I
163. (1) [NCERT--297]
ADH hormone is secreted when excess of fluid * 3R Sl I AT FA 2| TG ADH @I B 2
are discharged or loss. IR TR TR TS e 21 S o e
» If water content are low then ADH are secreted. & T ) IRT Fl) 21
» Andecreases in glomerular blood flow stimulates
formation of angiotensin II. 154, (1) [NCERT=323]

164. (1) [NCERTA-323] 91T AT - T
Olfactory receptors — smell W AE - 99 &1 92
gustatory receptors — Taste of food 165. (2) [NCERT--337,339]

165. (2) [NCERT-I-337,339]

WhelA - EEdESRALIE]
Secretin - Peptide hormone
GIP - Peptide hormone GIP B TTES qF &
Cortisol - Steroidal hormone FICHETA - BRI T




166.

167.

168.

169.

170.

171.

172.

173.

(3)

@

3)

(2

M

4)

2

@

[NCERT--153]

There is no uncatalysed reaction in metabolism.
CO, dissolving in H,O is a physical process. All
biomolecules are in a metabolic flux. Systems at
equilibrium can not do work.

The living state is a non equilibrium steady-state
to be able to perform work

[NCERT-1-157, 158, Mod. NEET 2015]

In the presence of competitive inhibitor less num-
ber of substrate are converted into product hence
more number of substrate molecule are remains
so Km value wil increase.

Competitive inhibitor does not effect upon break-
down ES complex.
[NCERT-I-146, 147]

GLUT —4 = Enables glucose transportinto the cells.

[NCERTH-305-308]
In the centre of each ‘I' band is an elastic fibre
called ‘Z’ line which bisects it. The thin filaments
are firmly attached to the ‘Z' line. The thick filaments
in the ‘A’ band are also held together in the middle
of this band by a thin fibrous membrane called ‘M’
line. The ‘A’ and ‘I’ bands are arranged alternately
throughout the length of the myofibrils. The portion
of the myofibril between two successive 'Z’ lines is

considered as the functional unit of contraction and
is called a sarcomere.

[NCERT-1-278, 279]

Fibrinogen — Blood clotting
Phagocytic cells — Monocytes

Basophils — Inflammatory reactions
Albumins — Osmoticbalance

[NCERT-I-114]
In cockroach the sense organ are antennae, eyes,
maxillary palps, labial palps, anal cerci.

[NCERT-I-266]
Due to protein energy malnutrition two main disor-
der are produced in human population.
Marasmus — Deficiency of protein and calorie.
Kwashiorkar — Deficiency of protein.

[NCERT-I-246]

Plants follow different pathways in response to
environment or phases of life to form different kinds
of structures. This ability is called plasticity, e.g.,
heterophylly in cotton, coriander and larkspur. In
such plants, the leaves of the juvenile plant are
different in shape from those in mature plants.

166. (3) [NCERT-I-153]

CIEEEi ]
— 39 SR Ee Ed S 9 B B |

167. (2) [NCERT-1-157, 158, Mod. NEET 2015]

gReHieTs deid F IR & RO F 9= A
ORIk & 31] Ieure o e 21 31 TSt W A
foRaTem 3197 A9 & S & | g4 km A 98 ST 2 |
gfereTeicns deid ES Wiee & e 3l o W INE
T} AT 2

168. (3) [NCERT-1-146, 147]

GLUT - 4 = TfIT &1 il ¥ qRaeq ¥ @
169. (2) [NCERT-1-305-308]

SIS T TRl g € S 3fTS -avs ol o aa

¥ fenfora e 21
170. (1) [NCERT--278, 279]
EIEERIEE] —- @ e
STV IR - dEEe
ELIIB — Sy TR

171. (4) [NCERTA-114]

FIFAT § TS 3T B

172. (2) [NCERT-1-266]

W AR v 99 98T 3R P 3 w4 QA
I BT B

173. (2) [NCERT-1-246]

Y wafeeer & giafear ¥ B 99 ) 39 2 3
= IR 1 @ A T\ 2 3 FEd 2
Rt



171 3)

175. (4)

176. (1)

177. (3)

178. (2)

179. (2)

INCERT-1-47, 48, 49, 50, 51, 52]

Radial symmetry — Aurelia
Bilateral symmetry —  Earthworm
Asymmetrical — Spongilla
Alternation of — Obelia
generation

[NC--129]

All eukaryotic cells are not identical

Plant and animal cells are different as the former
possess cell walls, plastids and a large central
vacuole which are absent in animal cells on the
other hand animal cells have centrioles which are
absent in almost all plant cells.

[NC-I-144, 145]
Acidic amino acid —  Glutamic acid

Aromatic amino acid

Phenylalanine

Neutral amino acid Leucine

Histidine
[NCERT-I-184, 185]

In apoplast movement of water is dependent on
gradient.

Basic amino acid

[NCERT-1-197, 198]

Boron — Pollen germination

Manganese — splitting of H,O to
liberate O, during
photosynthesis

Chlorine — component of
nitrogenase

Zinc — needed for synthesis
of auxins

Iron — component of
ferredoxin

[NC--340]

In human body steroid and lodothyronine hormones
interact with intracellular receptors mostly gene
expressions or chromosome function by the
interaction of hormone receptor complex with the
genome.

Steroid hormone = Progesteron, estrogen, cortisol
aldosterone, androgen.

lodothyronines = Thyroxine.

174.

175.

176.

177.

178.

179.

3) [NCERT-I-47, 48, 49, 50, 51, 52]
O gty - Fmdiferan
[ERIEEREIEIT] - G REL]
Frarf - of=sTen
e (Fidh geRmaT) - Fraferar

(4) [NC-I-129]

T ga R FIfe o e A A 2

- Ry Hifer ¥ Fife e, 99 3R uE 99
Rieraarr aril Sl 2 S TR S il ¥ S
Bl B

> S hifereRT ¥ fFcaier qmr S 21 S R e

T ey FIfrETs ¥ sruftud e 2
(1) [NC—I-144, 145]
yeig ol R - el oRd
Wifew ol sFd —  BeATEev
JeEA oA R - g
ag o s - R
(3) [NCERT-I-184, 185]
TaeTee A T S T gaeEr W 3wk 2l 2
2) [NCERT-I-197, 198]
TR —  TRETERY RO
FAA - HO®dRE? O,
e 8 germ
AFAqT & N
LIS SIEE ~ RGINHS # HeE 2
INED — IS & EIT
T 7
S ~  ®OsiEA # TeT
(2) [NC-I-340]

AT TR § Fg WA TR WA & 9
fonam ey BMHUTEN AR UF S o JReRe far
& 99 & STt srET uEE far & e
21 39 IFR & BHIH LUFe AR SEEEAA ae
B B B

TR



180. (2)

181. (4)

182. (4)

183. (1)

184. (3)

185. (4)

[NC-1-252, 253]

Impermeable and hard seed coat, presence of
chemical inhibitors such as abscissic acid,
phenolic acids, para ascorbic acid, and immature
embrys are some of the reason which causes seed
dormancy.

[NCERT-I-269, 270]

Trachea is a straight tube extending upto the mid
thoracic cavity

Pleural fluid is present between two pleura

Thoracic chamber is dorsally formed by thoracic
vertebrae

We can not directly alter the pulmonary volume

[CBSE, PMT-Mains 2010 (NC-1-309-312)]
Fibrous joints do not allow any movement. This
type of joint is shown by the flat skull bones which
fuse end-to-end with the help of dense fibrous
connective tissues in the form of sutures, to form
the cranium.

The 11th and 12th pairs of ribs are called floating
ribs
[NC-I-271, 272]

pO, in the adveoli — 104 mm Hg
pO, of oxygenated — 95mmHg
blood

ERV — 1L

Tidal volume — 05L

[NC-I-11, 12, 13]

Museums have collections of preserved plant and
animal specimens for study and reference.
Specimens are preserved in the containers or jars
in preservative solutions. Plant and animal
specimens may also be preserved as dry
specimens.

[NCERT--20-24]
Plasmodium = Protozoan (Protista)
Trichoderma = Fungi
Mycoplasma = Monera
All are non flagellated organism
All are non photosynthetic
Plasmodium = Unicellular eukaryotes
Mycoplasma = Unicellular prokaryotes

Trichoderma — Multicellular Eukaryotes

180.

181.

182.

183.

184.

185.

(2) [NC-1-252, 253]

divT ¥ Fo WENE JFEEeE 9 Su &9 ¥
TgfT 1 1 FE B

T FE=F B
—» WAl 3T
— UU-HHE IR
- QST 3
4)
—> TN el U o el & W & e 98 TR
Bl B B

— T B IS 908 § J4g FIAEH & g/ 9T 8
> TF YA & e FURETE o9 g §

[NCERT-1-269, 270]

) [CBSE, PMT-Mains 2010 (NC-1-309-312)]
14 3R 1281 S =% yafert wefe T yafermt Feardl
g
(1 [NC-1-271, 272]
&fia ¥ po, — 104 mm Hg
HTRIh Yo o —  95mm Hg
PO,
ERV - 1L
ST AR ~ B
&) [NC-1-11,12,13]
HUET ¥ IR g T3 & T 1 U8 B B |
(4) [NCERT-1-20-24]
AT = Teriad (TifeweT)
CTERIEA = Fa
ASEHASH = A

+ o FART T AT @

» T FTEEET SiE §
AT =T R hRacd
AEF AT = U FiRT NRaed
RIS — T JHAE
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186. (2)

187. (3)

188. (1)

189.

190.

191.

192.

[NC-1-30-39]
Algae are chlorophyll-bearing, simple, thalloid,
autotrophic and largely aquatic (both fresh water
and marine) organisms. Pteriodophyte are the first
terrestrial plants to possess vascular tissues —
xylem and phloem.

First chlorophilous thallophyte is algae
First thallophyte with embryo is bryophyte
First plant have embryo & vascular tissue is
pteridophyte
Seed habit occurs in Selaginella
First time seed in gymnosperm
[NC--29, 30]
Natural classification systems developed, which

were based on natural affinities among the
organisms.

At present phylogenetic classification systems
based on evolutionary relationships between the
various organisms are acceptable. This assumes
that organisms belonging to the same taxa have a
common ancestor.

[NC-1-66-68]

The stems of maize and sugarcane have supporting
roots coming out of the lower nodes of the stem.
These are called stilt roots.

The roots which store food in Turnip are tap roots
[NCERT-I-57]
In pisces two chambered heart occurs. In amphibia

three chambered heart i.e., 2 auricle and one
ventricle.

(1)

(2)

[NCERT-1-49]
The given animal are Euspongia. It is marine water
sponge. It is bisexual animal Ostia and osculum
are charcter of sponge.
(3) [NC-I-53]
First and second largest phylum of kingdom
animalia are respectively Arthropoda, Mollusca.
[NCERT-I-51]
The given diagram is of Taenia (Tapeworm).
Phylum — Platyhelminthes

Examples: Taenia (Tapeworm), Fasciola (Liver
fluke).

+ ltis tape worm
* Atype of flat worm

U

* Pseudometamerism
» Triploblastic
» Bilateral symmetry

186. (2)
a. 999 FARGeE JArhee A9 8

T2 YU 1 JAFTET SEIEET &
O UGS T W98 ek dlel Ui eRehEe §
it yefer feaiformer 3 et S 2

T S5 o R FEIgEEe B 8
[NC-1-29, 30]

ST geciier STTaeo] aedT & AR O o col &
M F FAEF FT TR G B 2

188. (1) [NC-1-66-68]
a. A S FeAo § SIS G Fl & I I8 I Bl
2
b. IR TF T A FAE A el Mol & el
2
189. (2)

[NC--30-39]

L S 2

187. (3)

[NCERT-I-57]
2 YIS Al 5 = Ao
T = Flsti, MRcFds
2 YIS 9l B2 = U o AR v e
PR - I JHS a1 §8F
- A s 3R v Fem
[NCERT-1-49]
R a1 e wR e w3
g faferit =g 21
ieear 3R MERe™ 9 9 B
g7 faa &g 21
(3)

190. (1)

191. [NC-1-53]

T AR BT 999 gET 9T R & 99w
HTATIIST ST HereerT B |

192. (1) [NCERT-}-51]
fear wrar o S (e &) 1 @

+ B HRT G E

* U GER F 99T HH €

- MR

- FERE

- foured wRe




193. (4)

194. (2)

195. (2)

196. (3)

197. (2)

198.(2)

199. (3)

200. (4)

[NCERT-1-85]

The meristem that occurs in the mature regions of
roots and shoots of many plants, particularly those
that produce woody axis and appear later than
primary meristem is called the secondary or lateral
meristem. They are cylindrical meristems.
Fascicular vascular cambium, interfascicular
cambium and cork-cambium are examples of
lateral meristems. These are responsible for
producing the secondary tissues.

[NCERT--96]

In old trees, the greater part of secondary xylem is
dark brown due to deposition of organic compounds
like tannins, resins, oils, gums, aromatic sub-
stances and essential oils in the central or inner-
most layers of the stem. These substances make
it hard, durable and resistant to the attacks of mi-
croorganisms and insects. This region comprises
dead elements with highly lignified walls and is
called heartwood. The heartwood does not con-
duct water but it gives mechanical support to the
stem. The peripheral region of the secondary xy-
lem, is lighter in colour and is known as the sap-
wood. Itis involved in the conduction of water and
minerals from root to leaf.

[NCERT-I-80, 81]
Solanaceae and liliaceae axile placentation
China rose — Axile placentation.
[NCERT--108]
Typhlosole increases the effective area of
absorption in the intestine
[NCERT--117]

Special venous connection between liver and
intestine as well as the kidney and lower parts of
the body are present in frogs. The former is called
hepatic portal system and the latter is called renal
portal system. The blood is composed of plasma
and cells.

[NCERT-I-169]
The stage between the two meiotic divisions is
called interkinesis and is generally short lived. In-
terkinesis is followed by prophase I, a much sim-
pler prophase than prophase .

[NCERT-I-164]

The duration of time period in m-Phase of cell cycle
prophase > Telophase > Metaphase > Anaphase.

[NC--164]

In animals, mitotic cell division is only seen in the
diploid somatic cells. Against this, the plants can
show mitotic divisions in both haploid and diploid
cells.

193. (4) [NCERT-1-85]

fedias AReew =1 Tl AReew a1 SoFrER AT

8T o Gl 2
194. (2) [NCERT-I-96]
EeTE 3R warw fewr fadiaes oo™ &
195. (2) [NCERT-1-80, 81]
B 3R forferedt o % =iy SwvearE B 8
— TEEd =R AvSaE

196. (3) [NCERT-1-108]

A ¥ AT FT FA B
o AT T IFEIMYT AT H TS

197. (2) [NCERT-I-117]

#geh ¥ T & A YRT 3R g9 @ o9 @ BR -
T &I gFH HEeH T Fel 2

198.(2) [NCERT--169]

FUGARRTE | 3R g feiee | & @ =it
BIET T T ATAATTT FEd &

199.(3) [NCERT--164]
FIRTFT TF T MUTEe 3 99 Srafer T 98 9 2
TETaeT > T > FAEE > e

200. (4) [NC--164]

FA) e R 2 2
St 1 T s R 3
el <1 ST B
ek <) R i



